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FOREWORD

The Candidates’ Item Response Analysis (CIRA) report is based on the Advanced
Certificate of Secondary Education Examination (ACSEE) for the Chinese
Language subject done in May 2023. The National Examinations Council of
Tanzania (NECTA) is pleased to issue this report in order to provide feedback to
all education stakeholders on the candidates’ performance in the subject.

The report analyses the factors behind the candidates’ performance. Good
performance was contributed by the candidates’ ability to answer questions
according to the instructions given as well as their competence in the tested topics
in the Chinese Language. Furthermore, the report identifies the weaknesses of the
candidates in answering the examination questions. These included failure to
understand the questions, having insufficient knowledge of the Chinese Language
grammatical rules, writing Chinese characters and lack of enough vocabulary.

The feedback provided in this report is expected to enable education
administrators, school managers, teachers, students and other education
stakeholders to take appropriate measures in order to improve the prospective
candidates’ performance in the future Chinese Language examinations
administered by the Council.

Finally, the Council would like to acknowledge examiners and all who contributed

e

Dr Said A. Mohamed
EXECUTIVE SECRETARY

in the preparation of this report.
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1.0 INTRODUCTION

The 126 Chinese Language report is based on the candidates’ performance in
the Advanced Certificate of Secondary Education Examination (ACSEE)
which was conducted in May, 2023. The questions were set in accordance
with the 2021 syllabus and the 2022 examination format.

The Chinese Language examination had two papers, namely 126/1 Chinese
Language 1 and 126/2 Chinese Language 2. The 126/1 Chinese Language
Paper 1 was divided into two sections, A and B. Section A comprised 6 short
answer questions. Each carried 10 marks, making a total of 60 marks. Section
B comprised three (3) essay writing questions. Candidates were required to
answer two (2) questions. Each question weighed 20 marks thus, making a
total of 40 marks. The whole examination weighed 100 marks.

The report analyses the candidates’ performance on each question. It shows
what the candidates were required to do, the general performance and the
reasons for their performance. Sample extracts of the candidates’ responses
are in place in order to show how the candidates answered the questions
according to instructions for each question.

The candidates’ performance is categorized into three groups; good, average
and weak. In this report the performance is regarded to be good if the scores
of the candidates ranged from 60 to 100 marks; for the scores ranging from
35 to 59 marks is regarded as average and the scores ranging from 0 to 34
marks is considered to be weak. Additionally, three colours are used to
represent the candidates’ performance, namely green which denotes good
performance, yellow which represents average performance and red which
shows weak performance. The candidates’ performance in each topic is
summarized in the Appendix.

Analysis of the candidates’ response shows that a total of 19 (100%)
candidates sat for the examination. The general performance of the
candidates in this subject was good, as 66.56 per cent passed the examination
in 2023. The candidates had different grades, namely B - 2 candidates, C - 3
candidates, D - 9 candidates, E - 2 candidates, S - 1 candidate and F - 2
candidates. However, there was no candidate who had grade A.



2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE ON EACH
QUESTION FOR 126/1 CHINESE LANGUAGE 1

This part provides the analysis of the candidates’ performance on the Chinese
Language Paper 1. The analysis is based on number of the candidates who
attempted each question and their percentages.

2.1 SESTION A: Short Answer Questions

This section comprised 6 questions. The candidates were required to
answer all the question. Each question weighed 10 marks making a total
of 60 marks.

2.1.1 Question 1: Completing the Sentences by Using Measure Words

The question comprised ten items in which the candidates were
required to complete the sentences by using the given measure
words. The question was set from a topic . The question tested the
candidates’ ability to start, intervene and close a discussion using

appropriate vocabulary and structures. The question read as follows:
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The total of 19 (100%) candidates attempted the question. Among
them 14 (73.68%) scored 6.0 to 10 marks which was good
performance, 2 (10.53%) scored 4.0 to 5.5 marks which was
average performance and 3 (15.79%) scored 0 to 3.0 marks which
was weak performance. The general performance in this question
was good, since 16 (84.21%) candidates scored 3.5 to 10 marks.
Figure 1 is an illustration of the candidates’ performance on
Question 1.
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Figure 1: The Candidates’ Performance on Question 1

The candidates with good performance on this question were 14
(73.68%). These candidates had sufficient knowledge of nouns,
measure words and their usage. The candidates identified the nouns
given in the sentences and chose the correct measure words from
the given alternatives. For example, the candidates who gave the
correct answer in item 1 chose the correct measure word % as they
knew that it is used for long or narrow objects like river, road and
trousers.

In item 2, the candidates who scored full marks chose '] which is a
measure word used for subjects/course. These candidates knew that
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the word #8 (lesson/subject/course) goes together with a measure

word 1] related to a lesson or subject, as they wrote I'1#R (a lesson).

Further analysis shows that the candidates who gave a correct
reponse in item 3 had sufficient knowledge of the measure word
used in vehicles like cars, motorcycles and bicycles, since they
chose 4A. Thus, they wrote the correct answer 4% #7 49 % (a new car).

In item 4, the candidates who wrote the correct answer knew that
the measure word — &)U (a little bit/ a little amount of) is used to
express amount of something that someone has. They also knew
that it can be expressed in a positive or negative way. These
candidates realized that once expressed in a negative way, the
negation particle X must also be used, making a structure of (— &
JU+ noun + #R/#L+% +verb) to express that the action described by
the verb has not taken place even a little bit. Thus, they wrote the
correct answer which was #&—, % JUE& AR X # (I have not brought

even a little money).

The candidates who got full marks in item 5 had sufficient
knowledge of the uses of the measure word #% (a cup/a glass). It is
used in drinks that can be put into a cup or glass. Therefore, they
identified the relationship between a noun %t 7 (green tea) and
measure word 4% (a cup/a glass) as they wrote the correct answer 7

MEEZ (two cups of green tea).

In item 6, the candidates who got this item right had sufficient
knowledge on the uses of the measure word /7. They knew that it is
a unit of weight for materials/goods in solid forms, such as fruits
and cereals which is equivalent to 1/2kg, normally preceded by a
number/amount. These candidates noted that in the given sentence
there was a fruit ¥ A (watermelon), which is usually measured by
the unit of weight. Hence, they wrote the correct answer —fr = 7T
(3 RMB per 1/2kg).



The candidates who wrote the correct answer in item 7 knew that
the measure word # is used for clothes like T-shirts and shirts.
They also knew that the noun 4+ # (T-shirts) had to be
accompanied by the measure word 4, hence they wrote the correct
answer =4 & #4145 (Three nice shirts).

In item &, the candidates who scored full marks realized that the
measure word 7K is used for objects with a flat surface, like tables
and papers/photo or pictures. The sentence in this item had a noun
B8 B (photo/picture). These candidates managed to write the correct

answer 7K %% i (a photo/ a picture).

In item 9, the candidates who performed well on this item had
sufficient knowledge of the measure word 3 which is used for
currency/money and is preceded by a number. The sentence in this
item comprised the word money and number, thus the candidates
managed to chose the correct answer — 77 34X, (ten thousand).

In item 10, the candidates who scored full marks had sufficient
knowledge on the measure word A that is used for bound papers
such as books, pamphlets, magazine, etc. Therefore, the candidates
associated the noun 45 (book) with the measure word A& ; thus, they
wrote the correct answer A& 45 (a book). Extract 1.1 shows an
example of a candidate’s correct response.
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Extract 1.1: A Sample of Correct Candidate’s Responses to Question 1

Extract 1.1 shows a response by the candidate who filled the blanks
with correct measure words.

Further analysis indicates that 2 (10.53%) candidates had average
performance, as they scored 3.5 to 5.5 marks. These candidates had
partial knowledge of the uses of Chinese measure words. They
managed to choose the correct measure words in some items and
failed in others. This performance was affected by having
insufficient knowledge of some Chinese nouns with their measure
words, thus, they randomly chose the items which led to wrong
answers. One of them chose correct answers in items 1, 3, 5, 8 and
10 but failed in items 2, 4, 6, 7 and 9. For instance, in item 2, one
candidate chose 3 a measure word unit for money instead of the



measure word 4 which is used for long or narrow objects like river,
road and trousers. This shows that this candidate chose the answer
by guessing because he/she did not know the noun and its measure
word.

In Item 4, one candidate chose /T a unit of weight instead of 1] a
measure word for subject/course. This shows that this candidate was

not familiar with the noun #£ and its measure word.

Lastly, in item 6, a candidate chose I'] and scored 0, because he/she
did not understand that the noun % J\ (watermelon) is measured by
T a unit of weight. This implies that the candidates had partial
knowledge of measure words which led them to guess the answer
by choosing the answer that was not related to the item. Extract 1.2
is a sample of responses from a candidate who had average
performance.
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Extract 1.2: A Sample of Responses from a Candidate with Average
Performance on Question 1



Extract 1.2 shows responses by a candidate who gave the correct
measure words to items 1, 2, 3, 5 and 9 but failed in items 4, 6, 7 8
and 10.

Moreover, analysis shows that 3 (17.79%) candidates performed
weakly on this question. They scored 0 to 3 marks. This
performance was affected by insufficient knowledge of the nouns
and their measure words. They randomly chose the given measure
words and wrote incorrect answers. For example, in item 1, the
candidates who got the question wrong opted for # which is a
measure word used for clothes like T-shirts, jackets and shirts. This
response shows that the candidates failed to differentiate the
measure word # from the measure word % that is used for trousers.

In item 2, the candidates failed this item because they did not know
that the noun #R (lesson) is preceded by the measure word I7/77.
The candidates chose 7% that is used for noun with narrow and long
things/object. This proves that they had not mastered well the uses
of measure words. Further analysis shows that in item 3, the
candidates who got the question wrong had insufficient knowledge
on measure word for vehicles. They randomly chose measure words,
hence wrote incorrect answers.

In item 4, the candidates who scored 0 did not know that the
measure words — %)L (a little bit/a little amount of) and 3% (unit of
money) are both measure words, which can be used in expressing
amount of money but differ in uses. They did not realize that the
measure 3 used in expressing a specific amount of money and —
& JU are used to express amount of anything including money.
However, — % JU can be used together with X to express negation
of having money while 3% cannot. Therefore, in this item the correct

answer was & — & JUE AR L (I do not have even a little money).

The candidates who got the question wrong in item 5 had
insufficient knowledge of the uses of the measure word #+ (a cup/

glass). They failed to identify the relationship between the noun %%
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# (green tea) and the correct measure word #+ (a cup/glass).
Instead, one of the candidates chose #%, the measure word that is

used for vehicles; which did not relate to the noun %8 % (green tea).

In item 6, the candidates who scored zero had insufficient
knowledge of the measure word /T (a unit of weight measurement
for materials/goods that are in solid forms like fruits and cereals that
is equivalent to 1/2kg). Some candidates were confused about the
measure word 3£ used for value of money because there was an

adjective 12 & (cheaper) in the sentence which is related to money.

In item 7, the candidates who scored zero had insufficient
knowledge of the measure word. They did not know that it is used
for all clothes like T-shirts and shirts. Instead, one of the candidates
chose %%, the measure word used for trousers. He/she did not know
that all clothes can use the measure word % but not all clothes can

use the measure word .

In item 8, the candidates who scored zero did not know that the
correct measure word was 7K, the measure word that is used for
nouns with a flat surface form, like tables and paper. Instead, some
of them chose A, the measure word used for bound objects/things,
other chose 3 which is used for money. All these responses were
chosen randomly. This shows that the candidates did not
sufficiently master well the nouns and theirs measure words.

In item 9, the candidates who got this item wrong did not know that
the measure word 3% is used for money and should be preceded by a
number. One of the candidates chose — % JL, which was wrong
because the candidates failed to differentiate the use of & (money

value measure word) and — %)L (amount measure word).

In item 10, the candidates who scored 0 had insufficient knowledge
of the measure word A that is used for bound papers such as books,
pamphlets and magazines. They failed to relate the noun 45 (book)

9



which is used in sentence and the correct measure word & .
Therefore, chose randomly the alternatives. Extract 1.3 is an
example of the candidate’s weak response to Question 1.
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Extract 1.3: A Sample of Incorrect Responses to Question 1

Extract 1.3 shows responses by a candidate who filled all the blanks
with incorrect measure words.

2.1.2 Question 2: Choosing Correct Words to Complete Sentences

In this question, the candidates were given 10 items each with two
words in brackets. They were required to choose a suitable word to
complete each of the given sentences. The question was set from the
topic Interrogative Pronouns. It tested the candidates’ ability to
express conditions and consequent results using conditional
complex. The questions were as follows:
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2...%)
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HARE, (H/8)

8. ZFAXHE o (R/£)
9. Ak & REAEAR TR, (RA...F/A&. .. 3)
10. K HAREK! GE/™)

The total of 19 (100%) candidates attempted the question, Among
them 12 (73.68%) scored 6.0 to 10 marks which was good
performance, 6 (21.05%) scored 3.5 to 5.5 marks which was
average performance and 1 (5.26%) scored 0 to 3.0 marks which
was weak performance. The general performance in this question
was good, since 17 (89.47%) candidates scored 3.5 to 10 marks
allocated to the question. Figure 2 is an illustration of the
performance on Question 2.

11
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Figure 2: The Candidates’ Performance on Question 2

Data analysis indicates that 15 (73.68%) candidates performed well
on this question as they scored 6.0 to 10 marks. These candidates
understood the question. They also had sufficient knowledge of the
Chinese vocabulary and structure patterns. For example, in item 1,
the candidates who scored full marks knew the uses of the
conjunction A& (then). They knew that it is used when explaining
or mentioning events in series. They also knew that VAJz (after) was
not the correct answer because it is used when explaining
accomplishment of one event after another but it does not consider
the series.

In item 2, the candidate who got this item right knew the meaning
and uses of the verb 1% (to make/to cause) that someone can make
someone/friends happy. They managed to write the correct answer
FAPEILB R KL KK, N AMNESHX55% (1 want to
send the photos to everyone as soon as possible in order to make
them happy). These candidates also noted that the two words had
the same meaning (cause/make) but with different uses, where 1%
(make/cause) is used in written form and * (cause/make) is used in
oral communication.

In item 3, the candidates who scored full marks knew that the word
1% (also) is used with the structure % T ...i%&... (Besides..., also...).
In addition, they knew that the word % (many) was not suitable
because it is used before an adjective of asking about the degree of
something.

12



In item 4, the candidates who scored full marks had sufficient
knowledge of the Chinese complements of direction (V+_L£/TF+:%k).
They understood that in this structure the word 4% F %k (stopping
down) is used to express that the motion is becoming slower
(stopping down). They wrote the correct answer AJ i 9 & A% Ff A%
¥, 212 TF k7T (The front car the more it goes the slower it gets,
it is about to stop). They also knew that 1% £ 5k this structure does
not exist; Thus, the verb 1% (stop) cannot be used with £ k.

In item 5, the candidates were aware that 4. (also) is a conjunction
that is used for emphasis, often used before a negative expression.
They also knew that i£ (also) has the same meaning as . but is not
used for emphasis before a negative expression. Thus, they wrote
the correct answer % & =1+ 2R 2 R F 474747 & &4 4 R 42
(what makes you so busy? I just called you now, but you did not
pick up).

In item 7, the candidates who got this item right had sufficient
knowledge of the use of the Chinese structure % 7 ..., #F ... (All
other ...... except for ...). This expression indicates that everything
in the first clause is in the same condition except for the second
clause. They were aware that an adverb #F (all) goes together with a
word % 7 (except). They also knew that 4. (also) was not the
correct answer because the structure & 7 ..., ... is only used to
indicate that not only the first clause has some particular condition,
but also the second clause has the same conditions. That means that
the first and second clause have the same conditions.

In item 8, the candidates realized that the word %k (come toward)
goes with the structure (S + V + place name + *k/3%) as a
complement of direction. The V + & indicates that the action is
done towards the speaker and the V + - shows that the action is
done far away from the speaker. The correct answer was & (come
toward). Therefore, they could not use £ (go) in this structure

because it cannot be place after a name since the main verb had
already been used.

In item 9, the candidates who scored full marks had sufficient
knowledge of the structure 2 A (only if) + essential condition + 7
(then) (A&) + desired outcome. They knew that structure means

13



only if the required condition is completed, the desired outcome will
be fulfilled. Hence, they wrote the correct answer &k R A &, 7+
At ik AE AL (It seems only love, can change people).

In item 10, the candidate who got this item right were
knowledgeable about the use of the verb ik (to make/cause), which
is placed after a noun and used before the subject. They also knew
that in this context ik (make/cause) was suitable because it is used
in both spoken and written language. They were aware that ™ (to
make/cause) also has the same meaning as it but is only used in
spoken form. Thus, they wrote the correct answer % Xk &k %
7k ! (Exam makes me so nervous!). Extract 2.1 provides a sample
of candidate’s correct response to question 2.
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Extract 2.1: A Sample of Correct Responses to Question 2

Extract 2.1 shows responses by a candidate who wrote correct
answers in all the items of the question.

Furthermore, the data analysis reveals that 6 (21.05%) candidates

attained average performance as they scored 3.5 to 5.5 marks. Their

performance was affected by their partial knowledge of Chinese

grammar. They were knowledgeable about some given structures

but had insufficient knowledge of others. These candidates
14



answered correctly some items and failed to respond correctly to
other items. For example, in item 1, the candidates who scored 0
did not know that the conjunction A& (then) is used to express the
event in series and goes together with s& (first). They also knew
that YAJ& (after) is used to indicate the next event and can only take
place after finishing the previous event.

In item 4, the candidates who failed had insufficient knowledge of
the Chinese complements of direction (V+_£/TF+k). They did not
know the differences in use between V +7F %k and V +_E. They
wrote the incorrect answer which read AT 49 & AR FFA%1%, &1%
LR T (The front car the more it goes the slower it gets, it is about
to stop). They also did not realized that 1% £ & does not exist.
Therefore, the verb 1% (stop) cannot be used with £ k.

In item 9, there were candidates who scored 0. This was due to their
insufficient knowledge of the Chinese structure patterns 2 7% (only
if) + essential condition + # (#&) + desired outcome, which
means only if the required condition is completed, then the desired
outcome will be fulfilled. They chose the structure R &......%L,

which was not correct because the use of noun % (love) without a
subject indicates that only one option was given to achieve a desired
outcome. Thus, the correct answer was (R A ... 7 ......). Extract 2.2
is a sample of a candidate’s response with average performance to
Question 2.

15
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Extract 2.2: A Sample of Responses from a Candidate with an Average
Performance to Question 2

Extract 2.2 shows a response of the candidate who wrote correct
responses in items 2, 3, 6, 8 and10 but failed in items 1, 4, 5, 7 and
9.

Furthermore, analysis shows that 1 (5.26%) candidate had weak
performance on this question as he/she scored 3 marks. This
candidate had inadequate knowledge of Chinese grammar and
vocabulary. He/she did not understand the meaning of the given
words, hence failed to choose the correct words that resulted in
scoring 3 marks. For example, in item 2, this candidate failed
because he/she did not know how to use the verbs 4% and ™| which
have the same meaning (cause/make). He/she did not know that {&£
is used in written form while #2 is used in oral form. This led
him/her to score 0.

In item 3, the candidate who scored 0 did not know how to use the
word i (also) in the structure % 7 ...iL... (Besides..., also...).
He/she also did not know that the word % (many) was not the

correct answer because it is used before an adjective asking about
the degree of something.

In item 5, this candidate got this item wrong because he/she failed
to differentiate the uses of the conjunction ¥, (also) and i& (also).

16



The conjunction 4 (also) is used to emphasize and i& (also) mostly
goes with A& (is) to make the word i& A& (also/still). According to
the sentence, the correct answer was 4. because there was a
negation particle 4~ (not). Extract 2.3 provides a sample of

candidate’s incorrect response to Question 2.
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Extract 2.3: A Sample of Incorrect Responses to Question 2

Extract 2.3 shows the responses by a candidate who wrote correct
responses in items 1, 4 and 10 but gave incorrect responses in the

rest of items.

2.1.3 Question 3: Re-arranging the Jumbled Words into Correct

Sentences

In this question, the candidates were given 5 items with jumbled
words. They were required to re-arrange them into meaningful
sentences. The question was set from the topic Inquiring
Suggestion. The question tested the candidates' ability to express
quantity. The question read as follows:
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The data indicates that 19 (100%) candidates attempted the
question, out of whom 6 (31.58%) scored 6.0 to 10 marks which
was good performance, 3 (15.79%) scored 3.5 to 5.5 marks which
was average performance and 10 (52.63%) scored 0 to 3.0 marks
which was weak performance. The general performance in this
question was average, since 9 (47.37%) candidates scored 3.5 to 10
marks. Figure 3 illustrates this performance.

Scores
=0-3
3.5-55
=6.0-10

15.79%

Figure 3: The Candidates’ Performance on Question 3

The data analysis reveals that 3 (15.79%) candidates had average
performance as they scored from 3.5 to 5.5 marks due to partial
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knowledge of the Chinese grammar. The candidates answered
correctly some of the items and failed in others. Some candidates
performed well in items 2 and 4 while they failed in items 1, 3 and 5.
For example, the candidates who scored 0 in item 1 had insufficient
knowledge of the Chinese structure. As a result, they re-arranged
the jumbled words incorrectly because they did not know the
position of each given word in the sentence. One of them wrote
@B@BME) $i1k% Pk iE&%iRE] T (Learn a lot school
let me knowledge get). This candidate failed to identify the subject
and object from the given words and did not know the meaning of
some words, hence they failed to re-arrange the words correctly.

In item 3, the candidate who scored 0 had insufficient knowledge of
the use of the structure (N + # + (N) means of transport + i k+
place). They also did not know the place of the nouns given, as one
of them wrote (60)3)(®)2)B)(1) Mtk E 1 i k 4232\ 3]
(His subway train is coming to Manager Wang’s office) which was
wrong.

In item 5, the candidate who got 0 this item had insufficient
knowledge of using the word —#¥ (same) to make comparison in
structure (A #= B —#F + adj). Thus, they wrote incorrect answers.
One candidate wrote (3)(4)(2)(6)(5)(1) X 377 64 3R 3% ) /A~ 75 18 —
# (This place’s environment two convenient the same). Extract 3.1
is a sample of the candidate’s responses to Question 3.

SN CYOROMONOIO) T
I IO N HCEONO — ; -
3@ O 0ee o ff."'fff;ff_'_"_‘,"f,if_ﬁ::

e k06 @ @ @ T

Lb_@,,&j_@ SNENE) I —

Extract 3.1: A Sample of Responses to Question 3 by a Candidate
with an Average Performance
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Extract 3.1 shows the responses by a candidate who re-arranged the
words correctly in items 2 and 3 but failed in items 1, 4 and 5.

Analysis shows that 6 (31.58%) candidates performed well in this
question as they scored from 6.0 to 10 marks. These candidates had
sufficient knowledge of Chinese language structure. Hence, they
managed to re-arrange the jumbled words correctly. For example, in
item 1, the candidate who scored full marks had sufficient
knowledge of the structure N + it + N + V + O. In this structure,
the candidate realised that the verb ik (to make/cause/let) denotes
the doer of an action. Thus, they wrote the correct answer DE@)©)
@O FA L& F 2| T 1k % %4292 (The school has helped me to get a
lot of knowledge).

In item 2, the candidates who got this item right were
knowledgeable about the fact that the adverb — /& (certainly) is
used after the subject before negation or affirmative verb to show
certainly that something happened or not. They also knew that & F¥
(gain weight) was the main verb and 4" (can) was an auxiliary verb
which had to be negated with A~ (not). Thus, they managed to write
the correct answer @®O®D@) R 84— 2 A Z M (Do not
worry; certainly she will not gain weight).

In item 3, the candidates who scored full marks had sufficient
knowledge of using the word 2 in the structure (N + 2 + (N)
means of transport + %/ + place). These candidates identified
the jumbled words and their correct positions in the sentence.
Hence, they wrote correct answer ®@@Q@O©D £ 42 72 iF 4 34k
kA d9 /> 8] (Manager Wang is taking the subway to go to his
office).

In item 4, the candidates who scored full marks had sufficient
knowledge about the structure (V +# & to come through), which is
the compound complement of direction. They also knew the
preposition A (from) had to be placed after ¥ YA (can) and
followed by the noun iX % ¥ (this road). Thus, they wrote the
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correct answer D@QOBO®® ) i T AMIX 5% H &k (Xiao Li

will come passing through this road).

In item 5, the candidates who got this item right had sufficient
knowledge of the structure (A #= B — 4% (the same) to make
comparative sentences. They also knew that —#¥ (the same) had to
be placed before an adjective 7 /& (convenient). Therefore, they
were able to re-arrange the sentence correctly as they wrote the
correct answer @@®@DRDE) X ANH 77 69 R 55— 4% 7712 (The
environment in these two places is equally good). Extract 3.2 is a
sample of a candidate’s correct responses to Question 3.

I
[

BOCEE0
2PER00E).
* CEO0ED. w
1 HC08@0
59600

Extract 3.2: A Sample of Correct Responses to Question 3

Extract 3.2 shows responses of a candidate who re-arranged the
words into meaningful sentences in all the items.

Furthermore, analysis shows that 10 (52.63%) candidate had weak
performance as they scored from O to 3 marks. These candidates
had insufficient knowledge of the Chinese sentence structure. They
also failed to understand the meaning of the given words, hence
they failed to re-arrange the sentences.
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In item 2, the candidates who scored 0 had insufficient knowledge
of the uses of adverb — & (certainly) and its position in the
sentence. These candidates could not identify the main verb and the
auxiliary verb. In addition, they did not know the place of a
negation 7~ (not). Thus, they had to re-arrange incorrectly the
words in the sentence. For example, one of the candidates wrote
GOOO®@@®B) 4 %M — % 43S (She not can gain

weight certainly).

Moreover, the analysis indicates that in item 3, the candidates who
scored 0 had insufficient knowledge of the structure (N + 2 + (N)
means of transport + # s&k+ place). Most of the candidates did not
understand the meaning of the words and their correct position in
the sentence. They re-arranged randomly the words, which resulted
in writing an ungrammatical sentence. For instance, one of the

candidates wrote (5)(4)(6)(3)(2)(1) % 12 iE /& #b &9 34k & N 8]

(Manager now his subway come to office).

The analysis shows that the candidates who scored 0 in item 4, had
inadequate knowledge of the structure of compound complements
of direction (verb + % %k to pass through/to come out/appear).
These candidates picked the jumbled words and re-arranged them
randomly. As a result, their sentences were incorrect. For example,
one of them wrote (3)(6)(1)(2)(5)(1) X £ #4 /s T T VA i K Ak (This
road Xiao Li can come passing through from). Extract 3.3 is a
sample responses by a candidate who had weak performance on
Question 3.

'Q@@S@h |
2 @D&S @ﬁ

\n

Extract 3.3: A Sample of Incorrect Responses to Question 3

Extract 3.3 shows responses by a candidate who re-arranged all the
items incorrectly.
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2.1.4 Question 4: Re-writing Sentences by Using the Given Words

The candidates were given five items with grammatical patterns in
the brackets. They were required to re-write the sentences using
those patterns. The question was set from the topic Introducing
people. 1t tested the candidates’ ability to express oneself clearly.
The question was read as follows:

W, ERANIEEREATHE LAY ST,
Blde; XAAXFLOOHEK. (ARRE)
XARAAS R LR K?
1. KFLBEEIIS@EELY, FEED? . (...R8 ..)
2. AFEHPHRTRTASF. (..1E...)
3. HKEBANBO—HK, (..F....)
4. FFFRAKRFE, (... #F ....)
5. HKBE FERXFEIgERE. (.... A ....)

Data indicates that 19 (100%) candidates attempted the question,
out of whom 16 (84.21%) scored 6.0 to 10 marks, which was good
performance, 1 (5.26 %) scored 3.5 to 5.5 marks, which was
average performance and 2 (10.53%) scored 0 to 3.0 marks which
was weak performance. The general performance in this question
was good, since 17 (89.47%) candidates scored 3.5 to 10 marks.
The candidates’ performance on this question is as summarised in
Figure 4 below.
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Figure 4: The Candidates’ Performance on Question 4

The candidates’ response analysis shows that 16 (84.21%)
candidates had good performance as they scored from 6.0 to 10
marks. These candidates had sufficient knowledge of the Chinese
language grammar. They understood the meaning of the given
grammatical words and managed to use them to re-write the
sentences. For instance, in item 1, the candidates were required to
use ... .~#... (do not want). They were aware that the word 7~ 42
could be used either to negate the statement or the question. They
wrote the correct answers, as one of them rewrote the sentence # -7
IRE XIS EAEERH, FEELD? (I do not want to go out to
watch movie in the morning, do you want to go?). Others re-wrote
HF LRSS EmAELH, AR ELD? (I want to go to watch

movie in the morning, don’t you want to go?).

In item 2, the candidates were required to use the word ...~ A&...
(is not). The candidates who scored full marks knew that they had to
write the negative form of the sentence. They further knew that the
negation ...~ ... (is not) had to replace the main verb & (is).
They were able to a change statement into a negative sentence.
Therefore, one candidate re-wrote A>Fe9F KT ARZE 7 A 5 F
(The Spring festival of this year is not on 5th of July).
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In item 3, the candidates were required to use ...#=... (and), to
rewrite the sentence. The candidates who got this item right
understood that the conjunction #= is used to connect two
objects/subjects/verbs or adjectives. Thus, they wrote the correct
answer &% A/~ & @ F2—i#K (I want five loaves of bread and
one bottle of water).

Furthermore, in item 4, the candidates were required to use an
adverb...#k... (both/all) to rewrite the sentence. These candidates
knew that an adverb ...#F... (both/all) is used to show that two
things/people have similar characteristics. They re-wrote =< #= 4%,
#R A K 5 & (My brother and I are both university students).

Finally, in item 5, the candidates were required to use the
preposition ...A... (from). The candidate who scored full marks in
this item had sufficient knowledge of the structure ...AA..., #......
( ...from...to...). This structure serves as a link between a certain
time/place and another. Finally, they wrote the correct answer %%
B R F LB iR (My mother every day is very busy
from morning to evening). Extract 4.1 is a sample of good
responses to Question 4.

Y LIS N L TR V) T

I |

2 Emhadt fR 78587

L FErAmb ARk,

e SO .

45% A Ep 8 AF A,

s RIS TR ML Fegt b

Extract 4.1: A Sample of Correct Responses to Question 4
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Extract 4.1 shows responses of a candidate who re-wrote correctly
the sentences by using the given Chinese grammatical patterns.

Further analysis indicates that there was 1 (5.26 %) candidate who
had average performance on this question and his/her marks were 4.
This candidate managed to rewrite some items correctly and failed
others. He/she rewrote correctly items 1 and 2 and failed in items 3,
4 and 5. That average performance was affected by the candidate’s
partial knowledge of how to use the given words. For example, in
item 4, the candidate who scored 0 replaced & (is) with #f (all) and

rewrote < < A= & A K 5 & (My brother and I both university
students).

In item 5, the candidate failed to place ... Ak... in the right position.
He/she rewrote #&% A 4G45 & X F L2 og ik (I from mother
every morning to evening is very busy). This indicate that this
candidate did not know the use of this word. Extract 4.2 is a sample

of responses by a candidate with average performance on Question
4.

[E

o A FEARE LB B w5

A F By A TF A2 TASE,

03 F Afol BB - ¥A K.

04- 8 Fo B 2 BER ¥

05 KABEEHx TEF| BpE R AL

Extract 4.2: A Sample of Responses to Questlon 4 from a Candidate
with an Average Performance

Extract 4.2 shows responses by a candidate who re-wrote correctly
the sentences in items 1 and 2 but failed in items 3, 4 and 5.
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Furthermore, analysis shows that 2 (10.53%) candidates scored 0 to 3
marks which was weak performance. These candidates had insufficient
knowledge of the Chinese language structure, grammar and vocabulary.
They answered most of the questions by guessing. They wrote a correct
answer in item 1, but failed in other items. For example, in item 2, one
candidate wrote 5 1A F G2 7 A 55 (This year is not spring
festival is 5™ of July). In this sentence, the candidates did not only fail to
know the Chinese sentence structure, but also was not able to use the

negative verb 7~ A& (isn’t). They could not realize that the verb cannot be
followed by possessive particle #J. The other candidate wrote 4~F 1~ &
¥ AT A2 7 A 55 (This year is not spring festival is 5" of July). This
candidate also did not know where to place the negation 1~ (isn’t) in the
same statement.

In item 3, the candidates failed to use the conjunction #= (and) to re-write
the sentences. For instance, one candidate re-wrote #% &A= &/~ & &, —#K
Ko (I want and five loaves of bread one bottle of water). This indicates
that the candidate did not know the place of #= (and) in the sentence.

In item 4, one candidate wrote < = #= X & K AR5 £ 5 3 Ao RAR K 5 4.
In this sentence the candidate did not know the appropriate place of #F.
He/she did not realize that it cannot be placed between X and % because
these two characters are one word k% (University). They cannot be

separated. This indicates that this candidate did not understand the
meaning of the given words.

In item 5, the candidates failed to insert the preposition A (from) at the
right place. Hence, they failed to rewrite a correct sentence. One candidate
wrote & 35454 R F LM% _ER I (My mother every day early in the
morning from night is very busy). In this sentence, the candidate replaced
#| (to) with Ak (from). This indicates that the candidate did not understand
the use of prepositions %] (to) and A (from). He/she omitted the
preposition | (to) in the sentence. Extract 4.3 is illustrative.
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Extract 4.3: A Sample of Incorrect Responses to Question 4

Extract 4.3 illustrates responses by a candidate who wrote correct
response in item 1 but incorrect responses in other items.

2.1.5 Question 5: Choosing Correct Answers and Filling in the Blanks

In this question, the candidates were given five items in form of
mini dialogues. They were also given seven alternatives (& £
(shopping) & # (to see a doctor) T B (program) £k (to graduate)
& % (to go out) F#L (phone) F I (to rain) to choose and fill in
the blanks to provide meaningful sentences. The question was set
from the topic Compound Complement of Direction. It tested the
candidates’ ability to use complements of direction to indicate
direction of the action. The question read as follows:
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B, BHERALERT.
W &, AR, TE, ¥, &L R, TH

Pl AELARR(T®E)T?
B: XEILA -

1. A: BEXA fh—RE MARE?
B: &RMA—LE, HAHEHFA,
2. A: 1&}%:’52?34’3&‘)7
B: ARBLECMFEY, AKNBEA-NEAL HIEA
L,
3. A: HRAXRELZITREFR?
B: AFfEELT, ATHEHLE —TFs
4. A: B—ALHRAITEELRTRIE,
B: FFEEHde EERRET,

PREFERETLID?
D R EBRY R AR AeH.

w
@

Analysis shows that 19 (100%) candidates attempted the question.
Among them, 13 (68.42%) scored 6.0 to 10 marks, which was good
performance. Furthermore, 3 (15.79%) scored 3.5 to 5.5 marks,
which was average performance and 3 (15.79%) scored 0 to 3.0
marks, which was weak performance. The general performance on
this question was good, since 16 (84.21%) candidates scored 3.5 to
10 marks out of 10 marks allotted to the question. Figure 5 is an
illustration of this performance.
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Figure 5: The Candidates’ Performance on Question 5

Analysis of the candidates’ responses shows that 13 (68.42%)
candidates who scored from 6.0 to 10 marks had good performance.
These candidates understood the meaning of the sentences and the
given alternatives and were able to choose the correct answer. For
example, in item 1, the candidates who scored full marks were
familiar with the structure of the conjunction #=/3% (and/with)
which is used to connect nouns subjects (A F=/3% B + —#2Z + verb).
They also knew that only the verb #£#7 (strolling/walk) was the
correct answer: E X Ao ff—AL L BB A A HE?  (With who did
you go for a walk yesterday?)

In item 2, the candidates were required to be familiar with the
vocabulary related to watching TV programs. The candidates who
scored full marks in this item understood the question and they
knew that the vocabulary ®.# (Television) goes with the word 7

B (Program). Thus, they wrote the correct answer #% 2 i i .41
2oy, EEXMBEBRA-ALMNT BHISEAF L (I learned
through television, in our country there are television program that
teach foreign Chinese language).

In item 3, the candidates who scored full marks were able to express

themselves in the hospital context. This helped them to identify the
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correct alternative which was & /& (to see a doctor). Further
analysis shows that these candidates were able to express their
emotions toward illness as they understood the word 7~ 47 R (not to
feel well) in the sentence.

In item 4, the candidates with full marks were aware of the structure
of &5 &) (42 sentences) which is (S + 4& + O + V). Due to the
statement of part A, the candidates understood that part B had to be
responded to by explaining the reason for not responding to the
phone call. They also understood the meaning of the verb %
(forget) which needed to be accompanied by a noun related to a
phone call. Thus, they wrote the correct answer 5#U (cell phone),
as one candidate wrote: N 3F & E R F NS AR LT (Iam sorry,
I Forget my phone at home).

In item 5, the candidates scored full marks because they understood
the question and the alternatives given. They also knew that the
words A ®.% (to watch movie) comes from structure V + VN.
According to the given sentence the correct answer was H % (go
out). Therefore, they wrote the correct answer I %F & % 4% 9 X 42
SRA% 4G b L F €% (1 am sorry tomorrow 1 will accompany my
mother go out to watch TV). Extract 5.1 provides a sample of
correct responses to Question 5.

T wi¥E ZET

o H

i wng

HIE X

s H R . , |

Extract 5.1: A Sample of Correct Responses to Question 5
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Extract 5.1 shows the responses by a candidate who wrote correct
answers in all the items.

Further analysis indicates that 3 (15.79%) candidates who had
average performance in this question scored from 3.5 to 5.5 marks.
They had partial knowledge of the given alternatives. They chose
correctly some alternatives and failed to do so in others. They wrote
correct answers in items 4 and 5 while failing in items 1, 2 and 3.
For example, in item 1, the candidates who scored 0 did not master
the structure (A #=/3% B + —#Z + verb) and they did not understand
the context of the speakers. Therefore, one of them chose % -
(graduate) which was wrong.

In item 2, the candidates who got this item wrong did not
understand the context of the dialogue, for example, one candidate
chose Z# (go for a walk). This word has no relation with the
process of learning Chinese. This indicates that the candidate did
not understand the meaning of the words used in the dialogue.

Lastly, in item 3, the candidates who scored O had insufficient
knowledge on how to express themselves in the hospital context.
For example, one candidate chose Z#7 (go for a walk) and another
one chose F #L (cell phone). These responses show that these
candidates did not understand the dialogue and thus, they failed to
choose the correct answer. Extract 5.2 provides a sample of
responses by a candidate with average performance on Question 5.

T Lod: F 45 ou- % _
l i
0L, 2 Afl,. | 05,7:,;1* g. T
03 % Iz

Extract 5.2: A Sample of Responses from a Candidate with an
Average Performance to Question 5
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Extract 5.2 shows responses of a candidate who wrote correct
answers in items 1 and 3 but failed to do so in items 2, 4 and 5.

Furthermore, the analysis shows that 3 (15.79%) candidates had
weak performance, as they scored from 0 to 3 marks. These
candidates had inadequate knowledge of Chinese structure as well
as the vocabulary. They understood neither the dialogues nor the
vocabulary. Hence, they chose the alternatives by guessing. For
instance, in item 2, the candidates did not realize that the blank
space needed to be filled in with a noun. The suitable noun was &
# (Television). Some candidates chose a noun 5 #t (phone) which
was wrong. This indicates that these candidates had insufficient
knowledge of the Chinese vocabulary and did not know how to use
them.

In item 4, the candidates who scored O did not understand the
structure of 4&€5 &) (42 sentences) which is (S + 4& + O + V). They
did not notice that the correct answer had to be a noun. Among the
nouns given, the suitable one was F#U (phone). Instead, one of the
candidates chose the verb #£#7 (stroll/go for a walk and another one
chose T @ (to rain). These responses show that the candidates
lacked vocabulary. Extract 5.3 is illustrative.

i

Extract 5.3: A Sample of Incorrect Responses to Question 5

Extract 5.3 shows responses by a candidate who wrote incorrect
responses in all items.
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2.1.6 Question 6: Re-writing Sentences by Choosing the Given
Language Structures

In this question, the candidates were given 5 items with the blanks
to be filled in with the given structures. They were required to
choose the correct answers and re-write sentences. The question
was set from the topic Introducing People. It tested the candidates’
ability to express themselves clearly. The question was as follows:

~. RETEASEET SRBLENEE, ROFEE—1,
#EA PR, AL RS, 1, XX, EH
Pide: 4 L P
LA ELIPE

I RS LS, KRS T EE 7
2. X ARA EILA,

3. BEXRHIRILARMR %,
4, BARELHE, B KA B B 0 76 A K-RIHFH,
5. Mg Rpid B K 8% L g R 9L

The question was attempted by 19 (100%) candidates, out of whom
6 (31.58%) scored 6.0 to 10 marks which, was rated good
performance, 11 (57.89%) scored 3.5 to 5.5 marks, which was rated
average performance and 2 (10.53%) scored 0 to 3.0 marks, which
was rated weak performance. The general performance on this
question was good, since 17 (89.47%) candidates scored from 3.5 to
10 out of the 10 marks allocated to the question. Figure 6 illustrates
this performance.
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Figure 6: The Candidates’ Performance on Question 6

Further analysis shows that 6 (31.58%) candidates scored from 6.0
to 10 marks. They had good performance as they understood the
meaning of the sentences and the given alternatives. They were able
to identify the correct answers. They also re-wrote the sentences
correctly. For example, in item 1, the candidates who scored full
marks knew the sentence structure S + ~/& + V + S + Adv. +Ad;.
They also realized that in this sentence the verb was missing. They
identified the correct verb which was % 4F (get good result).

In item 2, the candidates understood the use of tbF &) (comparative
sentences). They knew that the structure of the sentence was A +
tt + B + Adj, the comparative particle was missing. Thus, they
chose the correct answer tt (than). They further knew that the
comparison was between the weather of 4~ X (Today) and that of
PE X (yesterday).

In item 3, the candidates who got the question right had sufficient
knowledge of the structure Ftt 5 &) (comparative sentences), which
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is A + tt + B + Adj. These candidates noticed that in the sentence
the blank space had to be filled with an adjective. Thus, they
identified the suitable one X ¥ (the difficult).

In item 4, the candidates who scored full marks were aware about
the structure %R .......... I ... then). They realized that
this was a conditional sentence where one action had to take place
and then cause the other action to happen. Therefore, one of them

wrote 44~ KX BF ], de R B R A B A 69 75 A K — K X A
% (I don’t have time today, if tomorrow we have time, then we will
discuss this matter).

In term 5, the candidates who scored full marks knew that the given
sentence missed the word reason 41+ 4 (why). This led them to
write the correct answer [T 77L& T R 4eil A4+ 4 0 R % _Eag R
# % (Asha even herself does not know why she did not sleep last

night). Extract 6.1 is a sample of a response from a candidate who
performed well on this question.

7 13 B IR A P R A
2 E’F X STHEN A ;

SURBRWSFE R B S

m S N AT
W PRATAYD B IV T 5300

Extract 6.1: A Sample of Correct Responses to Question 6

Extract 6.1 indicates a response by a candidate who chose correct
answers in all the items.
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Furthermore, analysis shows that 11 (57.89%) candidates performed
averagely on this questions as they scored from 3.5 to 5.5 marks.
They had partial knowledge of the uses of the given alternatives.
They also did not understand the meaning of some sentences given.
This led them to perform averagely. They chose correctly the
alternatives to some items and chose incorrectly to others. Most of
them wrote correct answers in items 2 and 5 while failing in items 1,
3 and 4. Extract 6.2 illustrates such performance.
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Extract 6.2: A Sample of a Response to Question 6 from a
Candidate with an Average Performance

Extract 6.2 expresses a response by a candidate who wrote correct
answer 1n items 2 and 4 but wrote incorrect answers in items 1, 3
and 5.

Furthermore, 2 (10.53%) candidates scored from O to 3 marks,
which was weak performance. They had insufficient knowledge of
the Chinese structures. They did not understand the question.
Instead of rewriting sentences using the chosen structures, some of
them copied the given structures. Others rewrote the sentences but
chose the alternatives randomly. That resulted in giving wrong
answers. For instance, in item 1, the candidates did not know the
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structure S + A~/ + V + S + Adv + Adj. Hence, they wrote

incorrect answers. For example, one of them wrote 41+ 4 (why).

In item 2, the candidates who scored 0 had not mastered the
comparative sentences (b F %)). They also failed to note that in the
given sentence the blank space had to be filled in with an adjective.
Instead, they picked any alternatives and wrote them as answers.
For example, one candidate chose comparative particle b (than)
instead of ## 4% (the difficult).

Moreover, the candidates who answered item 3 wrongly did not
understand that the sentence was a comparative one. The candidates
did not realize that the answer had to be an adjective. Thus, one
candidate wrote %2R .......... O(If ... then) instead of ¥
(the difficult). Extract 6.3 is a sample of responses by a candidate
who had weak performance on this question.
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Extract 6.3: A Sample of Incorrect Responses to Question 6

Extract 6.3 indicates a response from a candidate who wrote
incorrect answers in all items.
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2.2 SECTION B: Essay Writing

2.2.1 Question 7: Completing Sentences Using the Given Words

In this question, the candidates were given ten vocabulary items in
which they were required to compose sentences. The question was
constructed from the topic Education. The question tested the
candidates’ ability to extract ideas or information and knowledge
from their life experience. The question read as follows:
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The question was attempted by 17 (89.47%) candidates, out of
whom 7 (41.18%) scored 7.0 to 11.5 marks, which was average
performance and 10 (58.82%) scored 0 to 6.5 marks, which was
weak performance. There was no candidate with good performance.
The general performance on this question was average, since 7
(41.18%) candidates scored 0 to 6.5 marks. Figure 7 is an
illustration of this performance.
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Figure 7: The Candidates’ Performance on Question 7

Analysis shows that 7 (41.18%) candidates scored from 7.0 to 11.5
marks, which was average performance. These candidates
demonstrated partial knowledge of the Chinese language vocabulary
and how to use it. They used some of the given words correctly to
construct meaningful sentences but failed to do so for other words.
They also failed to observe the Chinese sentence structure rules and
the proper use of punctuation marks. Most of them attempted
correctly items 1, 2, 3, 4, 6 and 8, and failed in item 5, 7, 9 and 10.
For example, in item 1, the candidates who got this item right
mastered the use of the conjunction &#&...#F /4... (no matter
what/how..., then...). Therefore, one candidate wrote Tt Xi%&H
2 B M, KA /53] (No matter how difficult Chinese might
be, I should study hard).

In item 2, the candidates who got this item right knew how to use
the word &% (still have time) to construct a proper Chinese
sentence. Most of the candidates understood the position of this
word in a sentence. One candidate wrote /R FF & iX A B, 1§ — &
U, 2 RFF4E, RERSEF; RMNARFTEIE N
3], B kA& (You are driving too fast, slow down a bit, the
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meeting starts at 9:30 o’clock, now it is 6:30 o’clock; we will be at
the company by 8:30 o’clock, we still have time).

In item 3, the candidates who got this item right recognised the
character of the word “& # (accurate/precise/standard). They
managed to compose sentences correctly. As one of them wrote 17
4 24 69 % (You speak standard Chinese).

In item 6, some candidates who scored full marks used properly the
vocabulary P (to read). They were familiar with this word and
one of them wrote #& [ 12X &% LAR%F (She is good at reading
Chinese texts).

In item 7, the candidates who scored full marks composed sentences
correctly. They understood the meaning of the noun & &
(opinion/suggestion) and one of them wrote #3469 & X4 A 4
7% (According to her opinion/suggestion, she has a good idea).

Further analysis indicates that candidates who scored full marks in
item 8 recognised the word * F (due to/with regard to) as a
preposition. These candidates composed sentences correctly. One of
the candidates wrote X TARANF I, RAVARE A & )T (With
regard to this matter, you all need to see the Chinese teacher).

Furthermore, in item 9, the candidates understood the meaning of a
noun #LZ (rules) and managed to create sentences. One of them
wrote 5 A1 %18 F % X 89 H 2 (Students should abide by the
examination rules).

In item 10, the candidates had sufficient knowledge of the uses of
the word #&47 (protect/protection) and that it can be used as a noun
or as a verb. Thus, they wrote correct sentences as one of them
wrote fR47 3R 3% &k & & (It is important to protect the environment).
Extract 7.1 is a sample of responses by a candidate with
average response to Question 7.
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Extract 7.1: A Sample of a Response to Question 7 from a
Candidates’ with an Average Performance

Extract 7.1 shows the responses of a candidate who wrote correct
sentences in items 1, 3, 6 and 9 but failed in the rest of the items by
either wrong use of the given word or providing a wrong sentence
structure.

Analysis shows that 10 (58.82%) candidates had weak performance
as they scored 0 to 6.5 marks. These candidates had insufficient
vocabulary. They did not understand the meaning of the given
words which led them to perform weakly. Some candidates wrote
incomprehensible sentences and others wrote sentences with
grammatical errors. A few of them wrote sentences with wrong
structures. For example, in item 1, some candidates composed
sentences without knowing that the word &£ (no matter what/how)
goes together with the structure (L & ...#F /4 ... (no matter
what/how..., then...). Therefore, they wrote incorrect answers. One
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of them wrote L&+ 4 & % ? (What is the meaning of no matter
what?).

In item 8, the candidates were not familiar with the vocabulary 3+ F
(with regard to...). They had insufficient knowledge of how to use
it. One candidate wrote, X T 89 & ik &K X A% 1, which was
incomprehensible.

In item 9, the noun #LZ (rules) was not familiar to most of the
candidates as they wrote ungrammatical sentences. For example,
one of the candidate wrote /R#LE 24 ? (You rules what). This
shows that the candidate thought that the word #LE was a verb,
which was wrong. Another candidate wrote AR NHLZ AR (It is
difficult to do that rule).

In item 10, some candidates who answered this item wrongly
responded by writing #& P& 47 iX A~ X 353X (I am protecting this
Chinese test). This candidate knew the meaning of the given word
&3P (to protect) but failed to use it correctly in the sentence. Thus,
they wrote meaningless sentences. Extract 7.2 provides a sample of
incorrect responses to Question 7.

BT 18 B LB E
w I HFIR R PR T X
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i % X E ]

24 U4 fF e % O
A g IR IR %, A&

DI AR (L B SE
g YT ST Fn 20 G F
7) AR FN )7

ISY WL Al S s

Extract 7.3: A Sample of Incorrect Responses to Question 7
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Extract 7.3 shows responses by a candidate who gave incorrect

responses in all the items.

2.2.2 Question 8: Correcting Incorrect Sentences and Writing
Correct Ones

The candidates were given 10 sentences that were grammatically
incorrect and they were required to write the correct sentences. The
question was constructed from the topic Education. The question
tested the candidates’ ability to extract ideas or information and
knowledge from their life experiences. The question was as follows:

AN, TF@E-FHIR, HIRHZIELIESHG T

1) Ao s SR VARTIE A RKidiX,
HRART IR A FKidiX L,

1. D EIERAIXFH,
2. EABEZEAIANA®EXA K.
3. B X ug _EARFZARE?

4, ¥ &R ILHILAFAE?

5. IR ARG K a7

6. ZE IR MRCLTF IR EH I A o

7. REER —RIEH,

8. Wb 8 ATk AR sk AR4TF .

9. FXBFHEEILIE S, KERTIRS.
10. A2 AG i 18 TX i AF /B 2F .

Analysis of the candidates’ responses indicates that a total of 7
(36.84%) candidates attempted the question. Out of them, 7 (100%)
scored 0 to 6.5 marks. There were no candidates with good and
average performance. The general performance in this question was
weak, as 7 (100%) candidates scored 0 to 6.5 marks. Figure 8 is an
illustration of this performance.
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Figure 8: The Candidates’ Performance on Question 8

Analysis shows that 7 (100%) candidates had weak performance as
they scored from O to 6.5 marks. These candidates had insufficient
knowledge of rules and principles of Chinese sentence structure.
They formed correct sentences in some items for the words which
they were familiar to and failed to do so in others. They also failed
to identify the errors. Most of them failed to correct the sentences
by copying the same incorrect sentences. For example, in item 1,
the candidates were required to correct the sentence +J» E ik & £ %X
1 (Xiao Wang asked me to wait for him this). The word iX (this)
was supposed to be iX JU (here). It was wrongly used in the sentence.
Thus, the correct answer was /> £ ik & £X JLF . (Xiao Wang
asked me to wait for him here). Instead, one of the candidates re-
wrote the sentence.

In item 2, the incorrect sentence was X /7] J& XA IR T JE X A
X (This shop is not like that shop this big). The candidates who
failed to correct this sentence did not understand the demonstrative
pronoun iX /> (this one) which goes with iX 4 (such like (this)) and
ARAS (that one) goes with AR 4 (such /like that)). The incorrect
sentence made #} /™ (that one) go with iX Z (such like (that)).
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Therefore, the correct sentence structure was X A8 J& XA A F
JEAR 24 K (This shop is not as big as that shop) but one candidate
wrote an incorrect sentence that read X AN & XA AT JE AR K
(This shop is not as big that shop).

In item 3, the incorrect sentence was B X B _EAR L5 ? (Which
are you going tomorrow evening?). The candidates who wrote the
incorrect answer, did not know that the interrogative pronoun "
(which) in this sentence had to be followed by JU to change it from
7k (which) to "IFJU (where). Thus, in this case the interrogative
pronoun f (which) had to be replaced by the interrogative pronoun
ARJL (there) or "FJL (where). Therefore, the correct sentence was
AR B R 8%, L 59R)L? (Where will you go tomorrow evening?), but
one candidate wrote & B X % % )L ? (Where will you go
tomorrow?) He/she omitted the words #%._L (evening), which was
wrong.

In item 4, the incorrect sentence structure was 32 % & K 5 JL
A% 4 ? (How many students are there in Tanzania?). The
incorrectness was caused by a question particle /L (how many)
which is used for asking quantity less than ten. These candidates did
not notice that. They wrote incorrect responses. One of them wrote
M E R A 4?7 (Tanzania has students?) instead of the correct
answer £ R EH % VA5 A ? (How many students does
Tanzania have?) Where as % (how many) is used to ask a
quantity more than ten.

In item 5, the incorrect sentence was 1R & A3, 77 & 69 ? This was
wrong because it missed the measure word /> which had to be
placed before a place name 37 (place). Therefore, the correct
form was ARAMNKFR/NHTr K497 (Which place are you coming
from?). These candidates wrote incorrect sentences as one of them
wrote 1R & AR LR 77 K 89 ? (Where place are you coming
from?).
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In item 6, the candidates scored 0 because they did not know the
structure of the verb complement of result. Some of them wrote £
A R & re-FPR#t A& ] A (On Sunday, I taking breakfast, I will
just pay visit my friend). The verb complements of result % (to
finish) was supposed to come after the main verb *Z (to eat) to give
more information about the action of eating. The action of taking
breakfast had to finish first and immediately be followed by the
action of paying a visit to a friend. Therefore, the correct answer
was Z R &K T Fm#t LA M A (On Sunday, soon after
finishing taking breakfast, I will pay a visit to my friend).

In item 7, most of the candidates who got it wrong failed to
comprehend the complement of result structure and the uses of the
adverb #F (all). The incorrect form provided in the question was 4%,
ER — R &AM (I did not see him for a day). This sentence
missed important particles to give a clear meaning. Majority of the
candidates wrote incorrect answers or repeated the sentence and
wrote #% #F X — R /% A& . This sentence missed the verb 1L (to see)
which acts as a complement of results which had to go together with
the verb & (to watch) and the adverb #F. Therefore, the correct
sentence was &P K — XA XA LA (1 did not see him all day
yesterday).

In item 8, the incorrect sentence was 447 ¥ 47 3R A% &k A4F She
plays basketball better as time goes by). Most of the candidates who
wrote incorrect responses had insufficient knowledge of the
structure fF, which is used as a complement of possibility and is
placed after a verb to indicate effects, degree or possibility.
Therefore, 47 % (the way played) comes before A% sk #% which
shows the improvement of the action 47. The correct answer was #&
T B R AT AR R AZIT (She plays basketball better and better as
time goes by).

In item 9, the incorrect form provided in the question paper is 7% i,

BFIAAL % B, KKk T /&R-F (It is not test time yet, everyone came

very early). Most of candidates who wrote incorrect answer in this
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item, had limited knowledge of the use of the particle T which is
not accurate according to the mood of the sentence. Instead, this
particle T was to be replaced by the complement #F which is used
to show the mood of action % (to come). Therefore, the correct
answer was # X B AL % 2], KK KRFHEF (I's not test time
yet, everyone is coming early).

In item 10, the incorrect form in the question was 4 &9 X & R HLAF
f&%F (His Chinese does not speak very well) the candidates failed to
comprehend the placement of Chinese complement of possibility 7%
in the negative form. This complement 4% is placed after the verb i,
(to say/ to speak), expressing the way the action of speaking is done.
Moreover, the word 7~ (not) should be placed after the particle #F
followed by the adjective phrase fk%F (very good). Therefore, the
best arrangement according to the Chinese sentence structure in this
item was 89X~ kEF (He does not speak Chinese very
well). Extract 8.2 is a sample of the candidate’s incorrect responses
to Question 8.

N

B A A
AN Y S
APRZF F 7 ZBPL T o
UIIERE VAT AN FAEL .

i b

¢ IRE WF Bt A DAL,
G ETR R AR IR AL 2 R -
AR - R A .

3 GOIT R AT IF 18 RS

a. AT WY OTEL, A5 B4R B 4

Lo MO HGE 15 1548 IR 45 o

Extract 8.2: A Sample of Incorrect Responses to question 8
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Extract 8.2 shows responses by a candidate who failed to correct the
sentences in all items.

2.2.3 Question 9: Reading the Passage and Answering Questions
Using Chinese Characters

The candidates were given a passage to read and they were required
to answer the subsequent questions by using Chinese characters.
The passage was about K ¥ H#y £ % (Mike’s life in China).
The question was set from the topic Introducing People. The
question tested the candidate’s ability to express oneself clearly.
The question was as follows:
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Analysis indicates that 14 (84.21%) candidates attempted the
question. Among them 1 (7.14%) scored 12 to 20 marks, which was
good performance. Apart from that, 3 (21.43%) scored 7.0 to 11.5
marks, which was average performance and 10 (71.43%) scored 0
to 6.5 marks, which was weak performance. The general
performance in this question was average, since 4 (28.57%)
candidates scored 7.0 to 20 out of 20 allotted marks. Figure 9
illustrates this performance.
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Figure 9: The Candidates’ Performance on Question 9

Analysis of the candidates’ responses shows that 1 (6.25%)
candidate had good performance as he/she scored from 12 to 20
marks. This candidate had sufficient knowledge of reading for
comprehension. He/she understood the passage and managed to find
the correct information and answered the subsequent questions
correctly. He/she could not score full marks because he failed to get
the correct answer in some items. For example, in item 1, the
candidates were required to read the passage and give the title of the
passage. The correct answer was to be from 3 to 6 words in Chinese
characters. This candidate scored full marks in item 1 because
he/she wrote the title of the passage correctly & jt /& P [E 5 P L
(Mike is in China learning Chinese).

In item 2, the candidates were required to state the nationality of K
5. (Mike). The candidate who performed well in the item
understood the passage and the questions. as it was stated in the
passage that & & (Mike) is from 2225 (New York) which is a
city in America. Therefore, the candidate knew that New York is in
America, hence, he/she gave the correct answer which was K 5% &
% B A (Mike is American)
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In item 3, the candidates were required to give the reasons why &
5% (Mike) did not like to stay in the hostel. The candidate who
scored full marks comprehended the passage and answered & 7 4t
TEF IR AN AAE—AN 55 18] (He was not comfortable two people to
live in a single room).

In item 4, the question required the candidates to give the reason
why K & (Mike) did not rent a house near the university. This
candidate identified the correct answer & M1 X 5 49 5 T X3¢
(Because the house near the University is too expensive) because
he/she had sufficient vocabulary which helped him/her to
understand and identify the correct information in the passage.

In item 5, the question required the candidates to state whether he or
she would live in the university hostel or rent a house out of the
university, once he or she got a chance to go to university. The
candidate who wrote the correct answer understood the question and
wrote the correct answer &2 £ @ALE TR A X EREA T (1
want to live outside because I like to live alone). He/she managed to
give the correct answer because he/she understood the passage and
the question.

In item 6, the question required the candidates to state why Mike’s
friend and the shopkeeper are both his teachers. The candidate with
full marks wrote the correct answer B # /& 3% & % 69 B 1& A A1) 4
when buying things). This correct answer was due to the fact that
the candidate had sufficient vocabulary.

In item 7, the question required the candidates to give the meaning
of 771% (convenient) and /& & (cheap) as they were used in the
passage. A candidate who got this item right understood the
question. He/she also understood the meaning of the words used in
the passage. He/she wrote the correct 7 1% 49 & & 2 JLiE a9 AT
% F 1 69 BF 4% 1k 47 IR (Convenient means the feeling of

52



comfortability that somebody has when he/she is doing something).
1% & # A B 49 & E: (Cheap means not expensive).

In item 8, the question required the candidates to give the meaning
of 77 ¥ JF 3k % (The first step is always a difficult one) as used in
the passage. The candidate who scored full marks had sufficient
knowledge of the idioms. He/she wrote the correct answer # 1+ 4
FIHHE—RF T AR R XA F R 5 ] A ARAL ]
¥ (The first time of doing something it is very difficult, but when
you keep doing it often it becomes easy, because the more you do

the more it becomes simple). Extract 9.1 is a sample of a correct
response to question 9.
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Extract 9.1: A Sample of Correct Responses to Questlon 9

\

Extract 9.1 shows a response by a candidate who gave correct
answers to items 1, 3, 4, 5, and 6 but failed in items 2, 7 and 8.
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Further analysis reveals that 5 (31.25%) candidates performed
averagely, as they scored 7.0 to 11.5 marks. These candidates
scored full marks in some items and failed in others. That indicates
that they had partial knowledge of reading for comprehension. They
understood some questions. Yet, they did not understand others.
Thus, it all resulted to average performance.

Further analysis indicates that 10 (62.5%) candidates scored from 0
to 6.5 marks which was weak performance. They had insufficient
knowledge of reading for comprehension. They lacked vocabulary,
which hindered them from understanding the passage. For example,
some candidates copied the words from the passage and wrote them
as answers, which were completely unrelated to the question. Yet
others left some questions unanswered.

In item 1, the candidates who scored 0 gave the title of the passage
which had more than 6 words contrary to the requirement of the

question. One of them wrote KL AT HF 3] ¥ L, Hhmsyk
¥ 4 (Mike is in China learning Chinese language, he is from
New York), which was wrong.

In item 2, the candidates failed to understand the Mike’s nationality.
They wrote the city 224y (New York), where he comes from instead
of writing his nationality % E A (American). They could not
realize that 224 (New York) is a city in America and not a country.

In item 3, the candidates who scored 0 failed to give the reasons
why K 5% (Mike) did not like to stay in the dormitory. They either
had wrong information from the text, poor writing skills or they
wrote ungrammatical sentences. For example, one candidate wrote
WTRERERES AL FAERAE, LRIRF 1 (He doesn’t
like living in the hostel always stays in hostel, it is very convenient
to attend lectures).

In item 4, the candidate who got this item wrong failed to provide

correct information because they did not understand the vocabulary

used in the passage. For example, instead of writing & 7 Fif 21 K 5
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# % -F K% (The houses near the University was very expensive)
he/she wrote X 5 &9 & F K 3¢ (University’s houses are very

expensive), one candidate omitted the word M 1% (near).

In item 5, the candidates scored 0 because they misunderstood the
question. Instead of writing the choice “if they get a chance to go to
the university”, they wrote the Mike’s choice which was wrong. For
example, one of them wrote # £ 18 4 1% (He stay in the hostel). In
addition, the candidates who scored O in items 6, 7 and 8 did not
understand the passage and the accompanying questions. They
copied sentences from the passage and they wrote as answers.
Extract 9.2 provides a sample of responses by a candidate with an
average performance on Question 9.
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Extract 9.2: A Sample of Incorrect Responses to Question 9

Extract 9.2 shows responses from a candidate who wrote incorrect
answers in all items.
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3.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE ON EACH
QUESTION FOR 126/2 CHINESE LANGUAGE 2

This part comprises two sections; A and B. It examines the candidates’
performance on each question in the 126/2 Chinese Language 2 examination.

The analysis includes the number of candidates who attempted each question
and their percentages.

3.1 SECTION A: Short Answer Questions

This section comprised 6 questions. The candidates were required to

answer all the question. Each question weighed 10 marks making a total
of 60 marks.

3.1.1 Question 1: Choosing Correct Answers to Fill in the Blanks

In this question, the candidates were given a passage with blanks.
The candidates were required to choose the correct answers from
the words listed. The question was set from a topic Entities. The

question tested candidates’ ability to comprehend written texts. The
question was read as follows:
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This question was attempted by 19 (100%) candidates. Among them
14 (73.68%) scored 6.0 to 10 marks, which was good performance,
2 (10.53%) scored 3.5 to 5.5 marks, which was average
performance and 3 (15.79%) scored from 0 to 3.0 marks, which was
weak performance. The general performance in this question was
good, since 16 (84.21%) candidates scored 3.5 to 10 marks. The
candidates’ performance on the question is summarized in Figure 11
below.
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Figure 11: The Candidates’ Performance on Question 1
Analysis shows that 14 (73.68%) candidates scored from 6.0 to 10
marks that was good performance on the question. These candidates
understood the passage and the meaning of the given words. They
also had sufficient knowledge of the structures, grammatical
patterns and different types of words used in the passage. For
example, in item 2, the candidates knew that the blanks had to be
filled in with a noun. They identified the correct noun which was T
7t (salary). They noted that the word & (high) is an adjective and is
usually placed after a noun. It explains the level of that noun is high.

In item 3, the candidates who scored full marks understood that the
noun # 4k (body) is normally described by the adjective # &
(health). This knowledge helped the candidates to identify the
correct answer. They also wrote the answer correct which was # 8}
(help) in item 4. These candidates realized that according to the
statement there was a noun %] A (others). Thus, they noted that the
verb help was needed to fill in the blank.
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In item 5, the candidates who scored full marks knew that the blank
space had to be filled in with a noun because there was a measure
word 3 (a measure word for a thing that can be sliced into smaller
pieces). The noun which was suitable was *7 5t 77 (chocolate)
which has the characteristics of having pieces.

In item 6, the candidates who got it right understood that the blank
had to be filled in with an adjective, because there was an adverb iX
Z (such) which emphasizes the adjective & ¥ (simple). Thus, they
wrote the correct answer.

In item 7, the candidates who scored full marks realized that the
noun L4% (job) had to fill in the blank. This was due to the fact that
in the sentence there was a measure word 47 (a measure word used
for job). In item 8, the candidates who got this item right understood
that the word #X % (a walk) goes together with verb # % (go out).
Thus, they wrote the correct answer.

In item 9, the candidates who scored full marks knew that the verb
47 is used to show the action that involves the use of hands. They
identified the noun sport which involves hands. Thus, they chose the
correct answer K #& % (Tai qi/Chinese martial art).

In item 10, the candidates who scored full marks were able to
comprehend the logical flow of the information from the beginning
of the text and they knew the message obtained from the content and

the suitable word used was # 2 (hopefully).

In item 11, the candidates understood the use of the possessive
particle 49 which is used to show that the object is under the
influence of or owned by or caused by something. In this item the
correct answer was 4 % (life). These candidates noticed that the
word F#&49 (happily) should be followed by the noun that acts as
influenced by the word ¥ #& (happy....) to make ¥ #% 69 & &
(happy life). Extract 11.1 illustrates.
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Extract 11.1: A Sample of Correct Responses to Question 1

Extract 11.1 shows responses by the candidate who wrote correct
answers in all items.

Further analysis shows that 2 (10.53%) candidates had average
performance having scored from 3.5 to 5.5 marks. These candidates
had partial knowledge of the words given. They had the ability to
use correctly some words but failed to use others. They also had
insufficient knowledge of the Chinese structure. These candidates
were able to answer correctly items 3, 4, 5, 7, 10 and 11 while
failing in items 2, 6, 8 and 9.

Further, analysis shows that 3 (15.79%) candidates scored from 0 to
3.0 marks. These candidates lacked vocabulary knowledge which
hindered them from understanding the passage. It also shows that
they did not know the meaning of the words given. They also did
not understand the sentence structures which led them to choose the
given words randomly and write them as answers. For example, in
item 2, the candidates who scored O did not understand that the
sentence was talking about the level & (high) of T3t (salary). One
of the candidates wrote 4 & (life). This shows that the candidate did
not understand the statement. These candidates chose the words by
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3.1.2

guessing hence they had weak performance on all items. Extract
11.2 is a sample of incorrect responses to question 1.
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Extract 11.2: A Sample of incorrect Responses to Question 1

Extract 11.2 shows responses by a candidate who chose incorrect
answers in all items.

Question 2: Matching Items

In this question, the candidates were given two columns whereby
column A consisted of five statement items and column B consisted
of 8 responses. The candidates were required to match the statement
in column A with the correct response in column B. This question
was set from topic Entities. The question tested the candidate’s
ability to comprehend written texts. The question read as follows:
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This question was attempted by 19 (100%) candidates, among them
14 (73.68%) scored 6.0 to 10 marks, which was good performance.
Furthermore, 3 (15.79%) scored 3.5 to 5.5 marks, which indicated
of average performance and 2 (10.53%) scored 0 to 3.0 marks,
which was weak performance. The general performance in this
question was good, as 17 (89.47%) candidates scored 3.5 marks to
10 marks. Figure 12 is an illustration of this performance.
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Figure 2: The Candidates’ Performance on Question 12

Analysis shows that 14 (73.68%) candidates scored from 6.0 to 10
marks, which indicated good performance. The candidates were
able to identify the correct statement from column B because they
had sufficient knowledge of the Chinese language sentence
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structure. They knew that the statements given in column A had a
continuation of information with the statements in column B. Thus,
they managed to match them correctly. For example, in item 1, the
given statement was &A1 E RIR 4G9 IH4E &2 %% AR % F O IENH
%% (When we buy clothes, we should consider many things like
price and so on). The candidates noted that the word % &k (buy
clothes), ##& (price) goes with the word /i £ (quality) in column
B. Therefore, they wrote the correct answer which was (D) /i %

2% (Pay attention on quality).

In item 2, the candidates who scored full marks knew the meaning
of the statement #& A k&-F&£iX /A3 T4 (I started to work in this
company last year) which was about time #-F (last year). The
candidates noticed that until then the total time would be one year,
therefore, they chose F, AL % —F 7 (Now it is already one

year).

In item 3, the candidates who scored full marks understood the
statement & ZA#RE R AE KW LE A% (All of my family like to buy
things on the internet). The candidates understood that the words &
A (family), ® L (on internet) and % % % (buy things) were related
to shopping. They also noted that the pronoun #4171 (they) which
replaced the noun K A and %4 (shopping) corresponded to F £ %
A % (buying things on the internet/online shopping). This helped
them to identify the correct answer A #ef1 % #3447 1k 242 (They
think doing shopping is very convenient).

In item 4, the statement given was #& 89 T4E X AR T (Her job is
very troublesome). The candidates who scored full marks in this
item knew that the statement was about being troublesome of 449
I 4k (she/her job). They related the word X # IR (very troublesome)
with the word /% 77 (pressure) in column B. They managed to write
the correct answer 4% % & 77 fk X (She always has pressure).

In item 5, the candidates were given the statement 7 @ 2 4 &k % #F

8 47 % (There are many kinds of bicycles in the garden). The

candidates who scored full marks knew that the word A /7% (a
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bicycle) corresponded to the word AR4%#% & 49 (that with the yellow
colour) because there was the measure word 4% that is used for
bicycle. Thus, they managed to write the correct answer G AR 4% 3%
€. 692 %49 (That with the yellow colour is mine). Extract 12.1 is a
sample of correct responses to Question 1.

=

i &

Extract 12.1: A Sample of Correct Responses to Question 2

Extract 12.1 shows responses by a candidate who wrote correct
answers in all items.

Further analysis shows that 3 (15.79%) candidates scored from 3.5
to 5.5 marks, which was average performance. These candidates
matched some items correctly but failed to do so in others. This
performance was due to the fact that they had partial knowledge of
the Chinese sentence structure. As a result, they also failed to
understand some vocabulary items. They managed to give correct
answers in items 1 and 2 but failed to do so in items 3, 4 and 5.

Furthermore, the analysis shows that 2 (10.53%) candidates scored
from 0 to 3.0 marks which was weak performance. These
candidates failed because they had insufficient knowledge of the
Chinese language sentence structure. They also lacked vocabulary
which hindered them from understanding the statements given. As a
result they answered the questions incorrectly by guessing. For
example, in item 1 candidates chose H #&#. %%/ (I also want to
participate) to match with sentence #1113% R AR 69 B+ 4% &A1 2 % &
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3.1.3

&% EFHOFEMH (When we buy clothes we need to consider a lot
of things such as price, etc). These two sentences do not match and
do not relate in the context given.

In item 5, one candidate chose D. /i & %/ & (Also need to pay
attention on quality) to match with the sentence #£ & Z A &k % # &
7% (There are many kinds of bicycles in the garden) which was
wrong. These candidates did not know that the sentence /i & %/ &
(Also need to pay attention on quality) relates to shopping while the
statement in the item was talking about the garden. This proves that
they lacked vocabulary knowledge. Extract 12.2 is a sample of
average response to question 2 by a candidate who performed the
question averagely.

2. F

4. B

- E

Extract 12.3: A Sample of Incorrect Responses to Question 2

Extract 12.3 shows responses by a candidate who matched the items
incorrectly.

Question 3: Re-arranging the Jumbled Sentences

In this question, the candidates were given five items, each of which
was a short paragraph composed of three jumbled sentences. The
candidates were required to re-arrange the sentences to make a
meaningful paragraph by writing the letters of the given sentences.
The question was set from the topic Health. The question tested the
candidates’ ability to communicate in conversations about how to
keep physical health and express oneself logically on the value of
success. The question read as follows:
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This question was attempted by 19 (100%) candidates. Among
them, 12 (63.16%) scored 6.0 to 10 marks, 4 (21.05%) scored 3.5 to
5.5 marks, and 3 (15.79%) scored 0 to 3.0 marks. The general
performance on this question was good, since 16 (84.21%)
candidates scored from 3.5 to 10 marks. Figure 13 provides an
illustration of this performance.
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Figure 3: The Candidates’ Performance on Question 13

Analysis shows that 12 (63.16%) candidates scored from 6.0 to 10
marks, which was good performance. The candidates who scored
full marks understood the given sentences and had sufficient
knowledge of Chinese vocabulary and structural patterns. They
wrote correct responses. For example, in item 1, the candidate who
scored full marks had sufficient knowledge of the sentence
structures. They wrote the correct answer (CBA) % % 5 AR &K
89 % KK (People from Dodoma like autumn) B % Af B+4& X
AF AT, TFR (because at that time the weather is very good
no wind) € A &M E L&A AL (It is our country’s capital city),
because they understood the arrangement of information. They also
understood well the main vocabulary given such as 37 (seasons),
X A, (weather), & #F (capital city) and % % & (Dodoma).

In item 2, the candidates who scored full marks, wrote the correct
answer (BCA) 8 X3t B T a9 FRE A IR, T4 %0 E E
AN FIRZAIFR, AT IRARGEAN, B HHHIA (Smoking is
not only having disadvantage on your body, it also can affect the
health of the people around you, for the sake of you and your family
members do not smoke). These candidates knew the idea of A J&

(smoking) with its effects, that it can affect others around the
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smoker. They also knew that the last sentence was a piece of advice
to stop smoking. Hence they were able to arrange them into a
meaningful paragraph.

In item 3, the candidates who scored full marks wrote the correct
answer (ACB) ¥4 K/RE £, AWARFART AF4, 12
ARABRA—E ¥4, RACKRATHESREACKR, AHEBT
A ¥ 4% (Happiness in fact is very simple, there are some who think
if you have money that is happiness, but having money does not
necessarily mean you are happy, to me I think after work being
together with your family, eating together, reading books that is
happiness). These candidates knew that the idea was happiness, and
how the people perceive it. Thus, they observed the arrangement of
the sentence and identified all the sentences from the first to the last.

In item 4, the candidates also had sufficient knowledge of
introducing family members in the Chinese culture. Thus, they

wrote the correct answer (CBA) XA =0 A, A XEWE, €&
Fosk, KEEHLALES (There are three people in our family,
there is father, mother and I. My father is taller than all of us).

In item 5, the candidates who got this item right had sufficient
knowledge of structure & #X...12 % ... (Although...but...) they
knew that a word & /X (Although) should be followed by 122
(but). They also knew the uses of the word & 4 (because) and
where it should be used. They wrote the correct answer (ABC) & /A
& TG AE A R — e AN, 128 R AL AFAL, B A A K I E AR R
I 8 T EgH & (Although failing might bring frustration, but failing
also has some advantages, because through failure you will learn

your own weaknesses). Extract 13.1 is a sample of correct
responses to question 3.
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Extract 13.1: A candidate’s Correct Responses to Question 3

Extract 13.1 shows responses by a candidate who re-arranged the
sentences correctly.

Furthermore, the data analysis shows that 4 (21.05%) candidates
had average performance as they scored 3.5 to 5.5 marks. They had
partial knowledge of the use of conjunctions and structures used to
connect ideas. They also had partial knowledge of meaning of some
vocabulary items. The candidates managed to answer correctly
some items and failed in others. Most of them wrote correct answers
in items 2 and 3 while failed in items 1, 4 and 5.

Moreover, analysis shows that 3 (15.79%) candidates had weak
performance. Their scores ranged from 0 to 3.0 marks. These
candidates had not mastered the structure of the sentences in the
Chinese language. They also lacked knowledge of some vocabulary
items, which hindered them from understanding the given sentences.
As a result, the candidates re-arranged the items wrongly because
they failed to connect ideas. They guessed and wrote incorrect
answers which resulted to weak performance on the question.
Extract 13.3 provides a sample of incorrect responses from a
candidate who performed weakly on Question 3.
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Extract 13.3: A candidate’s Incorrect Responses to Question 3

Extract 13.3 shows responses by a candidate who failed to correctly

re-arrange all the items.

Question 4: Completing a Dialogue

The question comprised 5 items in which the candidates were
required to complete the given dialogue. The question was set from
the Topic Health. It tested the candidates’ ability to communicate in
conversations about how to keep physical health. The question read

as follows:
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The total of 19 (100%) candidates attempted the question, out of
whom 11 (57.89%) scored 6.0 to 10 marks, which was good
performance. Apart from that, 6 (31.58%) scored 3.5 to 5.5 marks,
which was average performance and 2 (10.53%) scored 0 to 3.0
marks, which was weak performance. The general performance on
this question was good, since 14 (89.47%) candidates scored 3.5 to
10 marks. Figure 14 presents this performance.

70 7

57.89

(=3
(=]
1

L
=
1

=
=

31.58

(=]
=

Percentage of the Candidates
L)
(=)

—_
(=] (=]

0-3.0 35-55 6.0 -10
Scores

Figure 14: The Candidates’ Performance on Question 4

Analysis indicates that there were 11 (57.89%) candidates with
good performance as they scored from 6.0 to 10 marks. That shows
that, these candidates understood the question. They also had
sufficient knowledge of the topic Health. That means, the
candidates had sufficient vocabulary about health, which helped
them to understand the question. They filled in the blanks with
correct answers and correct characters. They also demonstrated
good mastery of the sentence structures because they wrote correct
sentences. For example, in item 1, the candidates were required to
give reasons why he/she did not attend class for the last two days,
X R E 4% k& EiR (Why didn’t you attend class for these two
days?). The candidates who got full marks wrote &% 7 (I was
sick), also some of them responded #& i #F 71~ 4F IR (I was not
feeling good/comfortable). This implies that the candidates
understood the requirement of the question.
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In item 2, the candidates were asked 17 T EFf2™5? (Did you go
to hospital?). The candidates who got full marks wrote 2 °f, &%
T & (Yes, I went to see a doctor) others wrote 7 7 (I went).

This shows that these candidates had mastered the language of
health matters.

In item 3, the candidates were required to give the feedback from
hospital, the question was AR & A A% & 1% M+ 4 ? (what did the
doctor tell you to do?). They gave the correct answer & 4 34 &
1% % "5 /K (The doctor said I should drink enough water). These

candidates knew the Chinese culture on what sick people are
usually advised by doctors in order to recover from the sickness.

In item 4, the candidates were asked & 4 % 7 474+ 4 259 (What
medicine did the doctor give you?) the candidates wrote the correct
answer #6257 £ 25 (He gave me Chinese medicine). This shows

that the candidates had sufficient vocabulary.

In item 5, the candidates were required to answer the question 1R #L
LT H IR E 24?7 (How do you feel now after taking
medicine?). These candidates wrote the correct answer &I & 4K
k%! (Now I am doing well). This reveals that the candidate
knew how to express him/herself on the health/state of the body of a

sick person after getting treatment. Extract 14.1 presents a sample
of a correct responses to Question 4.
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Extract 14.1: A Sample of Correct Responses to Question 4

Extract 14.1 shows responses by a candidate who answered
correctly all the items.

Moreover, 6 (31.58%) candidates had average performance as they
scored from 3.5 to 5.5 marks. These candidates had partial
knowledge of the topic Health. They knew some words but did not
know others. They were also able to write some characters in some
items but failed in others. Most of them managed to answer
correctly items 1 and 2 while they failed in items 3, 4 and 5.

Furthermore, 2 (10.53%) candidates performed the question weakly.
Their scores ranged from 0 to 3.0 marks. These candidates lacked
the required vocabulary to express themselves.  They did not
understand the question. One candidate could not write characters
correctly, the other could not write both Chinese characters and
Chinese grammatical sentences. That led to wrong answers. For
example, in item 1, the candidates did not understand the question,
as one of them wrote #& 491 & (my friend) and the other wrote 45
XA R k& L3R (this two you attended classes) instead of & %% 7~
4% IR (I was not feeling good/comfortable).

In item 2, the candidates failed to answer the question. For example,
one of the them wrote 5t A~ T, ¥ A& T/~ X (Can’t take it anymore,
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may be next day) and the other one wrote &1~ T E % (I cannot
go to hospital). The candidates wrongly used the negation particle
I~ (no) instead of using X (did not).

Furthermore, in item 3, the candidates who scored O did not
understand the question, and therefore, failed to provide the correct
answer. For example, one candidate wrote & 4 34t 69 42 B T ARSF
(The doctor said that his health was not very good).

In item 4, some of the candidates who got this item wrong did not
understand the question and others understood it but lacked enough
vocabulary to express themselves. For example, one candidate
wrote &4 % 7 &4 (The doctor gave me go for a walk). This
candidate did not know that the word #2# (a walk) is a verb and not
a noun. Another candidate wrote & & F 42894 % (I want a
peaceful life). This shows that the candidate did not understand the
question and responded by giving an answer that is not related to the
question.

In item 5, most of the candidates who scored 0 understood the
question but failed to respond correctly. One of them used the
English language knowledge to answer the question. He/she wrote
£49 F KT HFA (My body does not look good) in Chinese culture
4% (looking good) is not used to express the health situation. It is
used only in expressing facial appearance of someone or something.
Extract 4.3 is illustrative.

B 8 HRR & R
1 3% oA,

3 BEy 1 TLE‘_ ik 1E\
. BT 251y,

510 AR E 4513 E,

Extract 14.2: A Sample of Incorrect Responses to Question 4

Extract 14.2 shows responses from the candidate who wrote
incorrect responses in all items.
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3.1.5 Question 5: Reading the Text and Writing its Idioms

In question 5, the candidates were given 5 short texts to read and
write an idiom for each. The question was set from the topic Health.
The question tested candidates’ ability to communicate in
conversations about how to keep physical health. The question read
as follows:

2. FRABLE AL G RE.
Bide: RERRRY, #M, &%, B$hH. REERAE 5.
BR: RHETA.

I BWANERTBLAEE, wEFRGR, X%, KE. LEEX
HAARRI . RRET F B LAM RS,
ARIE

o

2 REFERERSLEMUFT. REELFAMALERZRIEA
FRGLE, REERP KPR,
ARGE

o

3. BAEA. ARTERSRANH. RERAREERFR, LEK
RAARTFS, REH, AELAT.

AiE 5

4, RBp—hB—-AFE, —RE MG LA, — AL - A,
—QEhF—AE@F.
AiE .

5. ANARTALES AAFXREL. RANAREY, RAETFL
fotp, LARRBGER . #R ERRELELEED.
A5 8

Analysis indicates that 19 (100%) candidates attempted the
question. Out of them, no candidate scored 6.0 to 10 marks, 4
(21.05%) scored 3.5 to 5.5 marks and 14 (78.95%) scored 0 to 3.0
marks. The general performance in this question was weak, as 4
(21.05%) candidates scored 3.5 to 10 marks. Figure 15 provides an
illustration of the performance on this question.
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Figure 15: The Candidates’ Performance on Question 5

Analysis of the candidates’ responses shows that 14 (78.95%)
candidates scored from 0 to 3.0 marks which was weak performance.
This is accounted for by some of the candidates who misunderstood
the question. Others did not know idioms.

In item 1, the candidate who scored 0 did not understand the text £
M VART & R e A8 g F REFIR, Ak, BRE, JUF
HFRAA N . WA £ T A kB DA AR RAERKIT (Mary,
before he/she did not want either to eat or to drink. She often felt
uncomfortable. She had fever and flu, almost every day she had
someone to take care of her. Since she went to see a doctor, she is
now doing well). The correct answer was 25 2| J% % (Once the
medicine is used, the disease is cured). They wrote incorrect
answers. For example, one of them wrote % %f f&4F 4% & which is a
meaningless sentence.

In item 2, the text was RFFH R EZ RS L RMNKF, FFE
FRMNEEFERZRIERAFROEET. REFEH KRR

(My grandfather every day narrates stories to us. He often tells us
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that in life you should find happiness, I have to read to find
knowledge.) The correct answer was 3k {F % & {3iZ (The higher
you stand, the farther you can see). The candidates who scored 0
misinterpreted the question they copied a sentence and wrote it as
an answer. One of the candidates wrote & 5 5 & X £ 1~ % 4 &A1

# F (My grandfather every day narrates stories to us).

In item 3, the text was & A E 4, KA E ML HAITH,
TAANBRE TR, A ZRAARITS, KREMH, Mizad.
(I am a doctor, before, I used to be afraid of injecting people, I was
not feeling comfortable doing checkup for patients, right now I feel
happy while I am with patients, I am not afraid, I have self-
confidence). The correct answer was 77 ¥ 77 3k % (The first step is
always the hardest). Some candidates who scored 0 misunderstood
the question. Instead of writing an idiom, they summarized the
given text. Others did not know the idioms. One of them wrote & &
44843 B T (afraid to trust him/herself).

In item 4, the candidates who got this item wrong had insufficient
knowledge of Chinese idioms. They failed to differentiate one
idiom from the other. According to the text 7~ ft—3i4 %% — i F
£, —QARM —2AfE, —QAEZL—RIL, —L KA
7 —i # 7 (You cannot ride and drive at the same time, you
cannot take the flight and take a boat at the same time, you cannot
be inside and outside at the same time, you cannot go eastern and go
southern at the same time), the correct idiom was “~¥] 5] H w5
(incomparable/too different to compare) but one candidate wrote —

¥ —, — A& = (call a spade a spade) which was wrong.

In item 5, the candidates could not score full marks because they did
not have sufficient knowledge of Chinese idioms. The text was 3
DRI RPL S, MEE XA, AR N AREF), ik
F Eforp LA ABEZS, R EXKEESELFEFS. (Before,
Li Xiao did not eat seafood. Now he wants to eat it every day.
Before, he did not want to do sports. Now he wants to do it every
morning and evening. In the world, every person needs best life
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activities). The correct answer was ) i} 5 B /A (Habit builds
character) but one candidate wrote 84z 53 3F #F £ K K&
4 & & 3 which is meaningless. Extract 15.1 illustrates this
scenario.

Fled @ F oy KA

oo-dhan W17 7%, A 1130

Extract 15.1: A Sample of Incorrect Responses to Question 5

Extract 15.1 shows responses from the candidate who failed to write
idioms in all items.

Further analysis indicates that 4 (21.05%) candidates had average
performance. They scored from 3.5 to 5.5 marks. Some of them
wrote corrects answer in items 1 and 3. These candidates had partial
knowledge of idioms. They knew a few of them. For example, in
item 1, the candidate who scored full marks understood the text and
managed to write the correct answer %5 £|75% (Once the medicine
is used, the disease is cured). These candidtes realised that the text
was about a certain problem that can be solved, once measures are
taken. This is revealed by & (Mary) who went to hospital to see
a doctor and she recovered.

In item 3, the candidates were required to know the idiom which
says 77 ¥ JF k % (The first step is always the hardest). The
candidtes who scored full marks were familiar with this idiom. They
related it to the text which was about a doctor who used to be afraid
to attend patients before but later on he got used to it. Thus, they
gave correct answers which are illustrated in Extract 15.2.
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Extract 15.2: A Sample of Responses to Question 5 from a
Candidate with Average Performance

Extract 15.2 shows responses from a candidate who wrote correct
idioms in items 1 and 3 but failed in items 2, 4 and 5.

3.1.6 Question 6: Writing Essays on Various Contemporary Issues

In this question, the candidates were required to answer the given
questions in each item. The question comprised 5 items. It was set
from the topic Occupation. The question tested the candidate’s
ability to apply communication skills on Job, interview, express
oneself clearly about attitudes toward jobs, and express opinions of
careers in discourse. The question read as follows:

<. WA F @ ad s A,
i) der: AR GG B AT R AT A ?
B R EITRLE V.

15 F o609 & X8 A 7

= Be b S AR AR IJL T AE?
142 3 T At A T 4E?

R A-FB R F_EIL A K ?
IR+ A5 3) 357

hERRF

The question was attempted by 19 (100%) candidates. Out of
whom, 12 (63.16%) scored 6.0 to 10 marks, 5 (26.32%) scored 3.5
to 5.5 marks and 2 (10.53%) scored O to 3.0 marks. The general
performance on this question was good, since 17 (89.47) candidates
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scored from 3.5 to 10 marks. Figure 16 is an illustration of this
performance.
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Figure 16: The Candidates’ Performance on Question 6

Analysis shows that 12 (63.16%) candidates had good performance
as they scored from 6.0 to 10 marks. These candidates had
sufficient knowledge of vocabulary and sentence structure. They
understood the questions asked and were able to respond. For
example, in item 1, the candidates who got this item right were
knowledgeable about the uses of the word # X (interview) and
interrogative particle & Z # (how was it). Thus, they gave the
correct answers. One of them wrote #& T 4F 9 & X £ /R 4F (My
afternoon Interview was good).

In item 2, the candidate who scored full marks realized that the
question 1Rk 5 B ADR)LITAE? (Where do you want to work
after graduating?) required their personal information. They
responded by naming the place where they want to go to work after
graduating. One of the candidates wrote & G 8 E % % 5 T4
(I want to work in Dodoma after graduating).
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In item 3, the candidate who got this item right understood the
question which required them to name the professions of their
parents. These candidates wrote correct answers. One of them wrote
R EE R E A KI5 /£ 5% T4 (My Father is a teacher

and my mother works at the hotel as a chef).

In item 4, the candidates who scored full marks had sufficient
knowledge of Chinese characters and the use of words J& K
(weekend), A2 Kk (get up) and F L JU,% (at what time in the
morning) which required them to give time. Through this
knowledge, they were able to answer the question correctly. One of
them wrote &4 & K-F _E N\ &AL K (Every weekend I get up at 8
o’clock).

In item 5, the candidates who scored full marks were able to express
themselves by giving reasons why they learn Chinese language.
These candidates were familiar with the words # 4 (why), 5 3
X% (learning Chinese). They managed to give correct answers as
one of them wrote X F I XERAAXNF—EZELFE (I'm
learning Chinese language because in six years I want to go to
China). Extract 16.1 is a sample of correct responses to Question 6.

AARTE A &K ARZFT
T OWFL EAEEPLLE
S H L R AF A T TET 5@%5% ES
H g KA,
g % EAHEEL 65 Fr, _____f_m,_____
g SR AL SRR £
A E ;
!
Extract 16.1: A Sample of Correct Responses to Question 6

-

Extract 16.1 shows responses by a candidate who responded
correctly to all questions.

Further, analysis shows that 5 (26.32%) candidates in this category
had average performance. These candidates had partial knowledge
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on the topic of occupation. They mastered some vocabulary items to
express themselves but lacked others. Most of them wrote correct
answers in items 1 and 2. They scored 0 in some items. Some of
them failed to write the characters and others copied sentences from
other questions and wrote them as answers. For example, in item 3
the candidate wrote #% & 4 (I a doctor) instead of writing & #2 % &

4 (I want to be a doctor).

In item 5, the candidates were unable to answer the question
properly probably because they did not understand the meaning and
the use of the word 7 f+ 4 (why). One of them wrote & & 17X i%&
(I love you Chinese). This implies that the candidate did not
understand the question. Extract 16.2 illustrates a sample of correct
responses given by a candidate who performed averagely on
Question 6.

ANEKT T B d A AR
DR¥LER PHE T

3 LR [ FED]

O Tk E B[R EE 2 R
ORTIXIERAE 5 P B

Extract 16.2: A Sample of Responses to Question 6 by a
Candidate with Average Performance

Extract 16.2 shows responses from a candidate who responded
correctly in item 4 and 5 but failed in items 1, 2 and 3.

Moreover, 2 (10.53%) candidates had a weak performance as they
scored between 0 to 3.0 marks. The weak performance was caused
by lack of vocabulary knowledge. The candidates answered
questions by guessing. For example, in item 1, one candidate who
scored 0, did not understand the question. He/she failed to write the
characters and wrote incorrect sentences. Another candidate wrote
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¥F, EREKRFEM—EILT (good, but I was little bit worried). This
candidate expressed the feeling he/she felt during interview instead
of stating how the interview was.

In item 2, the candidates who scored 0 failed to tell the place they
wanted to go to work. One of the candidates wrote the name of the
profession. The other one wrote an incomplete sentence 51k )5 78
(after graduating 1 want). They also scored 0 in item 3, as they
failed to name the profession of their parents. Instead, one candidate
wrote ¥ /£ B %, && TLAF (she is in the kitchen, my father is
working).

In item 4, the candidates who scored 0 had insufficient knowledge
on Chinese characters especially the use of the words & K
(weekend), A2 Kk (get up) and F L JU . % (at what time in the
morning). They failed to express themselves in telling at what time
they work up every weekend. ¥ _E J&] X"Z#R (morning weekend eat
food).

In item 5, the candidates score 0 because they failed to give the
reason why they learn Chinese language. One of the candidates
wrote #. % X (speak Chinese language). This shows that this
candidate did not understand the question. Extract 16.2 presents a
sample of incorrect responses to Question 6.

= 15X AR 2 B TLE,
o 33 op Fr BRI
s WEEES

4 RxFHALET LY
;. IR OF F 1B EL

Extract 16.2: A Sample of Incorrect Responses to Question 6

Extract 16.2 shows responses by a candidate who wrote incorrect
answers in all items.
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3.2 SECTION B: Writing Essays
This section comprised 3 essay questions. The candidates were required
to answer two questions. Each question weighed 20 marks thus, making a
total of 40 marks.

3.2.1 Question 7: Summarizing the Passage

The candidate were given a passage to summarise it. The question
was set from the topic Entities. The question tested the candidate’s
ability to comprehend the written text. The question read as follows:

X, FmETEEL, B 803 10 FHELELENE.
#4244

£ ER, BRPEA, A% 85, RAAAENTE, KRAE
N IAR, &NFEAFERLAT, A LERETBRPATRE T
BA&RALAT,

AVEATHABAE RS, AN—& LT, &, &F, BE,
wEFuan, ARk #%, #L, AARE ¥5%. B HEAT
AERRSE, FHASITHELBBILTARS, BTRMEERKSE
H— P R AL A R AR A KRR F R .

AEERTEA-ANARME, REW, BT EEH, AR
B4 EBR—AFL, BELEAT R GRS AROAHT A, B
B RIE R Joit 12 5 B L0454 3 AR ERAT A AL R 2K

% R AT A A A s 8 4L T RAE A WA L AL R4 —MRAR
Hildh, RH—ERERANER R il F LA LM ERITAES
W, BAREHERBERMAREM 4.

A total of 13 (68.42%) candidates attempted the question, out of
whom 5 (38.46%) scored 12.0 to 20 marks 2 (15.38%) scored 7.0 to
11.5 marks and 6 (46.15%) scored O to 6.5 marks. The general
performance on this question was average, since 7 (53.84%)
candidates scored from 7.0 to 20 mark. Figure 17 summarises the
performance.
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Figure 17: The Candidates’ Performance on Question 7

A total of 5 (38.46%) candidates scored between 12.0 to 20 marks.
That was an instance of good performance. These candidates had
sufficient knowledge on reading for comprehension. They extracted
the main information from the passage. These candidates knew the
principle summarising and also had the ability to get the main ideas.
They summarised the passage but they could not score 20 marks
because their summaries had few errors. Extract 17.1 presents a
sample of the candidate’s good responses to Question 7.

Voo ol A4k ZRBA ARy HABF R
1k S0 i = Ml%i))méq:r_ﬂe PR 5
TARL: v&kﬁMM #ETH i —48 161
SR At ArRE R TITY - Y 40}
H,

| fy’ﬁf’é‘@ﬁ&/&aﬁﬁf %%Mﬂ@“u
Jii 2z 1% 8 ’F@]él{:l@
mnﬂ%t%m B4 7T 5 2% 31 Flbh
1078 Sk AR R 4

Extract 17.1: A Candidate’s Good Responses to Question 7
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Extract 17.1 shows responses by a candidate who summarised the
passage, hence achieved good performance. However, he/she could
not score full marks because of few grammatical errors that were
spotted his/her response.

Furthermore, analysis shows that, 2 (15.38%) candidates scored
from 7.0 to 11.5 marks. These candidates had partial knowledge of
sentence structure and vocabulary. They summarised the passage
with some errors. Some of the candidates wrote some meaningless
sentences and others wrote some of the characters incorrectly. All
these led to average performance.

Moreover, analysis reveals that 6 (46.15%) candidates performed
weakly, as they scored from 0 to 6.5 marks. They had insufficient
vocabulary knowledge. This is revealed in their responses. Some
candidates wrote incomprehensible responses, few of them copied
the passage while others picked some words in other questions and
wrote them as answers. Consequently, they performed weakly on
the question. Extract 17.2 is illustrative.
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Extract 17.2: A Candidate’s Incorrect Responses to Question 3

Extract 17.2 shows responses by a candidate who wrote a story
instead of summarizing the question asked.

3.2.2 Question 8: Essay Writing

In this question, the candidates were required to write an essay of 80
to 100 words based on the title and the vocabulary items. The title
was ] B 49 3 T (Mingming’s city) and vocabulary & &
(development), ' % (descend), i (transport), 4L K (technology),
% 5 (police), & #% (cake), & #F (tell), & & (cheap), ¥ &
(beautiful), A2 7 (supermarket). This question was set from the
topic Science and Technology. The question tested the candidates’
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ability to use different vocabulary items to write a passage in a
specific context. The question read as follows:

A WAET BiEHAFRTA R RFE—ik 80 5 100 0B L
#H: NRHRT

REi: KR, BE R, BR, BE, BE, 5 RE, #4, AT

A total of 6 (31.6%) candidates attempted the question. Among
them, 2 (33.33%) scored 7.0 to 11.5 marks and 4 (66.67%) scored 0
to 6.5 marks. The general performance on this question was weak,
since 2 (33.33%) candidates scored 7.0 to 20 marks. Figure 18 is an
illustration of this performance.

100
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80 -
70 4 66.67
60 -
50 -
40 A 33.33
30 -
20

Percentage of the Candidates

10 +
0.00

0-6.5 7.0-115 12.0-20
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Figure 18: The Candidates’ Performance on Question 4

Analysis shows that 2 (33.33%) candidates had average
performance. They scored from 7.0 to 11.5 marks. These candidates
had partial knowledge of the assessed topic. They lacked some
vocabulary to express themselves. They wrote some sentences
correctly but failed in others. They also failed to write the correct
punctuation marks whereby some of them used English language
full-stop mark (.) instead of Chinese full-stop mark (. ). Yet, others
failed to organize their ideas logically. Extract 18.1 illustrates this
scenario.
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Extract 18.1: A Sample of Responses to Question 8 from a
Candidate with an Average Performance

Extract 18.1 shows responses by a candidate who wrote an essay
with a few errors such as wrong characters and incorrect uses of
some given vocabulary items.

The candidates’ response analysis indicates that there were 4
(66.67%) candidates with weak performance as they scored from 0
to 6.5 marks. The candidates’ performance was affected by their
insufficient knowledge of the topic assessed. Some candidates wrote
incomprehensible essays. Others mixed pinyin with characters
while others failed to use the vocabulary items given. A few of them
ended up either copying a story from other questions or writing
incorrect Chinese characters and ungrammatical sentences which
were meaningless. Extract 18.2 exemplifies such performance.
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Extract 18.2: A Sample of Incorrect Responses to Question 8

Extract 18.2 shows responses from the candidate who wrote an

Incorrect answer.

3.2.3 Question 9: Writing a Short Passage

The candidates were given a title 1% &) R4 4 ? (What do
you plan to do on the week end?). They were required to write an
essay. The question was set from the topic What to do. The question
tested the candidates’ ability to express themselves in the Chinese
language about their different plans. The question read as follows:

. FBFeesiEM, B —ik 80 B 100 A 4948 Lo
A IR RITHBAA?
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Analysis indicates that 19 (100 %) candidates attempted the
question. Among them, 8 (42.11 %) scored 12 to 20 marks, 6
(31.58%) scored 7.0 to 11.5 marks and 5 (26.32%) scored O to 6.5
marks. The general performance on this question was good, as 14
(73.68%) candidates scored 7.0 to 20 marks. Figure 19 summarizes
the performance.

Scores

50-6.5
70-1L5

31.58% =12.0-20

Figure 19: The Candidates’ Performance on Question 19

The data shows that 8 (47.06%) candidates had good performance
as they scored from 12 to 20 marks. These candidates had sufficient
knowledge of the Chinese language grammar. They also understood
the title, which led them to write correct Chinese sentences and
arranged their ideas logically. They wrote good essays as they
observed the rules of writing punctuation marks and characters.
Extract 19.1 gives a sample of such good responses to Question 9.
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Extract 19.1: A Sample of Good Responses to Question 9

Extract 19.1 shows responses from a candidate who wrote a good
essay with few errors.

Further analysis indicates that 5 (29.41%) candidates had average
performance. They scored 6.5 to 11.5 marks. These candidates
managed to write an essay but some sentences were
incomprehensible. Other candidates could not write the Chinese
characters correctly. They also wrote some sentences with incorrect
structure, as a result, they performed averagely.

Moreover, 4 (23.53%) candidates scored from 0 to 6.5 marks, which
was weak performance. The analysis shows that some of the
candidates misunderstood the question or did not understand the
title of the story. For example, one of the candidates wrote a
passage which had a lot of mistakes including poor character
writing, illogical meaning and wrong use of punctuation marks.
This proves that these candidates had insufficient vocabulary which
hindered them from expressing themselves correctly. Consider the
following Extract.
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Extract 19.2: A Sample of Incorrect Responses to Question 9

Extract 19.2 shows responses by a candidate who wrote an
incomprehensible essay.
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4.0

5.0

ANALYSIS OF THE CANDIDATES’ PERFORMANCE PER TOPIC

The candidates were tested on 11 topics in the Chinese Language Subject.
The general performance was good, as candidates had good performance 7
topics. These topics were Interrogative pronouns (89.47%), Occupation
(89.47%), Speaking Chinese (84.21%), Compound complement of direction
(84.21%), Entities (75.84%), What to do (73.68%), Introducing People
(69.17%), and Health (64.91%). The analysis shows that good performance
was attributed to the candidates’ ability to understand the questions asked and
having sufficient knowledge and skills of the topics tested.

Further analysis shows that there were candidates who had average
performance on the topic of Inquiring Suggestions (47.37%). These
candidates had partial knowledge of the topics. Some of them had insufficient
vocabulary to express themselves.

Furthermore, there were candidates who performed weakly in the topic
Science and Technology (33.33%) and Education (20.59%). The analysis
shows that weak performance on this topic was contributed by the
candidates’ insufficient knowledge of vocabulary, sentence structure and
Chinese character writing. The performance of the candidates in the topics
tested is summarized in the Appendix, where green colour indicates the
topics with good performance, yellow colour indicates topics with average
performance and red colour indicates topics with weak performance.

CONCLUSION
The candidates’ general performance in the Chinese Language subject in the

2023 ACSEE was good since, 66.56 per cent of the candidates passed. These
candidates understood the questions they had been asked. They applied the
grammatical rules and principles correctly and wrote correct characters.
Further analysis of their responses indicates that there were candidates who
had average performance and those whose performance was weak. These
candidates had insufficient knowledge of the Chinese Language grammar
that hindered them from expressing themselves. They also had insufficient
knowledge and skills in the topics tested and character writing.

93



6.0 RECOMMENDATIONS
In order to improve the prospective future candidates’ performance in the

Chinese Language subject the following are recommended:

(2)

(b)

(©)

Teachers should guide students on the correct use of vocabulary,
sentence structures and language patterns by organizing a discussion
while insisting them to use the newly learnt vocabulary and structures.

Candidates are supposed to be given more exercises on grammar which
will enable them to master the grammar points of view and the sentence
structures.

Teachers  should guide the students to read more
books/newspapers/passages which are written in Chinese Language in
order to increase vocabulary that will enable them to express
themselves better.
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Appendix

The Candidates’ Performance in Each Topic ACSEE 2023

S/N

Topic

2023
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